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The aim of this particular s tudy was to examine how an Anglophone s know-

-

ledge of the verbal system of hlS native language was a source of 1nterference x

Cin his learning and use of the French verbal system within the realms of

.
|

' ln order to gnderstand how an English speaker s knowledge .of the English~

RS

_ verbal system can interfere with his learning and utilization of the French

verba] system it was necessary to have a .description of the two verbal systems
,‘Thus,,Chapter One was devoted to a description of the ‘English verbal system,,

and, Chapter Two the French verbal system Then, the final four cgapters were

.
e e o

: _given to an examination of verbal interference from English.

0

In order. to undertake the study of verbal interference from English, ;c
examination papers of students completing,their first, secondxand third

_ semesters ‘of university studies were examined. From the’ essays in thése papers

were. elicited student errors which demonstrated that.an Anglophone s knowledge

@

" of the English Verbal system does, In fact -interfere with his learning and _,

use of the French verbal system The" evidence indicating English verbal f

o “finterference was deduced from the fact that structures of the English verba]

system, ‘which were not common to ﬂoth languages were applied incorrect]y to

| . . .'.‘" '

o
a

Differences in the content systems of the French and English verbal :
systegs are thé real source of verbal. 1nterference from English : So, th

theorfies of Gustave Guillaume whith he Ppplied to the content systemfof the

.

°French verb and which Hivtle and Hewson (in part) applied to’ the content‘, :

: system of the English verb werg used to explain the “verbal interference ‘from -
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N \'\FOREwori_o o g o .
N o e BTN
e ~, ”One of the greatest problems/facing teachers and students of second

. )

languages is hative language interference. when,a student uhdertakes the
'1,1 . _study_of'a second,language a knowladge of his native language is brought to a
. “' , the iearning situation., when the structures of . the second language differ .
.? ' ‘7ffrom those “of the learner 3 native language,f:here is, quite often, inter-.
‘ B ference of native- language structures oh the’ learning and understanding of -
:;,;r ffe;’ ) 'second language structutes. \ o
B A very complex part of speech in the Indo European languages is the L <::::::
vert. Quite often the real reason for a particular Verbal form being — |

"utilized in a language is yery difficult to determine. Many 1inguists_have .

?

T attempted to determine why a particular form 1s used by giving reasons from

?

-

the surface structu:es, while the real reason for a particular form ap-

‘ pearing in, discourse is determined by the underlying content system of that

/s

~, language. e

. “ ' PerhapS/ho other'person has had such 1nsights into‘éhe content systemoi |
| of the French verbal system as the French linguist GustaVe Guillaume. His A
- theories have .been takefi*and applied to the English verbal system, in part
by Hewson, and extensively by Hirtle and these theories have cast consid-
'erableQ%ight on the English verb. ?ecause of the application of Guillaume s

.'theories to - the English and French _verbal systems, one can explain, much

more suitably, many "aspects of the verbal systems -
The aim of this work is to examine the English and French verbal _‘
- systems in the areas of tense, mood and _spggt_ and to show how an |
Anglophone’s knowledge of the English yerbal system interferes with the
. ,learning of the.Erench verbal,system uithin”these thfee areas. Thus , :’1 :g
® 1 . Chapter Qne is deVoted to a description of'the English yerbal system, and |
§ - ¥ S ”




. Chapter Two ‘&escri bes he French verbal s_ystem. ThenJChapter Three K

Anglophone s acquiring’ o\ the French tense system. In Chapt Four.wexhaVE”
.a brief examination of/modal 1nterferenoe from English-. Ch ter Five is
™ given to an examin' ion of the moods 1n Eng]ish and French nd of how ‘the'

anl1sh‘mood

) o \\ngwofnt € moods - malnly subjunctive mood - 1n the French v bal system.

»

' //' F1na11y, we see. very br1ef1y. in Chapter S1x, how the nglish“verbal system

~/f‘"1s a source of interference when an Anglophdne attempt a study of the .

-French aspect system. oL

. It 1s hoped that by 1dentify1ng the problem areas and sources of

1nterference from the English verbal system that teachers of French as a’

' second language w111 be able, more successfhlIy, to anticipate student

errors and thus create exercises wh;zh w111 enab]e students to avoid N

‘ mistakes. If teachers can ant1c1pate errors and offer varied exe ﬁt‘\to 4
GQ\(or overcome) them/ second 1anguage teaching and

’ help students avoid

learning will be more succes

‘ - . . ‘ y
R . . .o - ) '..’ «

< main]y indicative mood - Ynterfere with ong's comprehension" ‘
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! TENSE, MOOD, AND ,.-'AS?E\CT'.'OF THE ENGLISH VERB

MIGE Introduction .t . _\ ‘f e e T L

The purpose of this particular paper being to show that.a native
Speaker s knowledge of the English verb interferes w1th his learning of the
: French verb in the areas of tense, mood and a _gpgg_, this first chapter will
AT attempt to describe these three realms with relation to the English verbal . :

’ system. The particular point of view' taken in presenting the description x

. , \ .
.f.Yds.Guillapmjan.] » , ’ o Lo

1.2" Tense

f 'A'Gé}y common mistahe of granmarians has been to confuse’tense and~time.

e It has long been a well-known scientific fact that no two bodies can contem-
poraneously occupy the same space, Einstein has also shown that no two bodies.
can occupy the same. time. Thus, both space and time .are really only relative -

f\i§‘“"*‘*r=15*the individual involved 1n an ‘event. So, time really has no past; present, ..

' or future, these are only relative to the consciousness of the individual in
an event. English it is true, has the means of expressing past, present,
. and future time, but this is not always done by means of tense. A modified

diagram fdpm Jesperson (Jesperson 1964:230) will help to illustrate the : - :

\ f ‘ "_differencé between tense and time by showing’ the tenses\in English

. . ,
. ‘ N i B . L. T
Vo oo . , A | Lo . . .
e B} -— . x__* _ c—moO K .
. - B ' ) [
) .
)

here. and A non-past .°/
. :

now ..

»

]

*

' l Guillaume 3 description was of the ‘French® verb, but his theory .
has been applied to English by Hirtle and Hewson, who are the main sources }?——‘““~\\
fbr this chapter. , S .

i

1
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v Grammar1ans often speak of’ future’ tense when what they are rea'lly referring

A

i to is. future t1me.' For - thé purpose of this paper, when talkind -of” tense, the
reference wﬂl be to sing]e morphologica'l forms used to 1nd1cate time zone5° .

EngHsh has only two (2) tense forms - past and non-past

The means by which Engl1sh§'~ré resents t1me in the 1nd1cat1ve 1s qufte

S ' ")t‘\a
- different from that of the Roma&\’:e Languages. ~EngHsh has only two tenses,
. ,but French shows -f1ve (5) 1nd1cat1Ve tenses to represent time:
51 T L Je par'le ( tg?y'p' AN L o ‘ o ‘
e v /.’ ,fﬁ 1‘ e . LR . Lo . " . . / :
" : ,Je par]ais _ ; R .
Je. par‘la1 . R b

f_Je parlerais Co L " Voo
R “Je par'lera1 Al ' . _ -
But to make up for the very Hm1 ted number (?% tense forms, -English uses a.
;) .\ system of aspect whereby one uses “"an- auxﬂiar_y for the verb form and a’
_ verba] (1nf1n1t1ve 'or part1c1p1e) for the 1ex1cal content" (Hewson 1972 79)
For example . AU R '
' .1 am working K . .
J I have worked P 3 e
; | ; °I shall work ‘- e - S &h e g
oy —.I-hadworked DR T
o I have been working S :_ B A
I had been working ‘ - - ‘
I wﬂ] -have. worked
; I will have been working T : o

‘ Imay have worked . L

. T - o
. . . " o
[ ‘ “ . . -
. . . 3

I shall be working s ‘.

' { So?"forms such as I talk and I ta1ked are marked for tense but unmarked for )

’
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N aspect, whﬂe the compound forms such as the above a‘re marked for both tense

'J
¢

"",andaspect T S -."'

- .

As w/as pre‘vious]y"state'd? EngHsh has ‘only. “two ‘tenses - past and non-

7 1'talk and 1 speak are non-past, but they are not e

" normally used : Aent the experient'lal present because theysinclude 1n
‘ e

rest of non-memoria] time as'yvell. ,
(1)1 talk too much. L .
(2) I speak to the class every week.

*

Both (1) and *(2) refer to 'events that do not happen at the t'lme the speaker

/ 1s talking 2 "here and now": This usage demonstrates a common usage of the °

fion-past, ‘Both of the above sentences have an a'i r of permanency about them.

. ozt
a4

. unlike a sentence such as ' A R /

(3) 1 ain -Atalkihg’ too much. ‘ .
which seems to refer mbre close'ty to the present which Iacks' the feeHng pi"
permanency o refer to the’ present. a- verb form must 1ndicate lack of
pennanency since the present (here and now) is only a threshold (this wm

be discussed Iater) separating past and non- past o e

1.2.1 Two Views of . Tine

PRY

A Gui 'I'Iaumi'an approach to 'Ianguage' which excludes the terms inci dence.

and decadence would certainly. be very difficu]t since “they are basic to his .-

discussion of how 'language funct'lons Gu'l'llaume apphed these~ two terms to -

his study of the French verb; we shall. now attempt to app]y them to the

-

English verbal system, First, however, a brief descript'lon of 1nc1dence

and decadence is necessary. . \

Gumaume says that 1ncidence is "celui [le n1veau’ldu temps arri vant'

.le niveau de décadence ce]ui du temps arrivee" (Guﬂ]aume 197la 94)

~

!i's

-3 .'

’"l."
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: ups‘tream/downstrea,m views" (Hewson 1973: 10). -Such a contrast-as the.

et

© So, the level of 1nc1dence represents time as act:umulatlng from the past

towards -the future, while the level of decadence g'lves the view of time as’ -

2

' unro‘l'ling from ‘the future 1nto the past. Ina dlagram from Hewson- l972 64: C

-

: o . ’decadence S R SR
o past - - ——— future -

; o " incidence . :
past ———n : .' ' future R

- The following analogy by Hewson (1973) will help clar1fy the sttuat'lon
"A usefal analogy may be made vﬁth the hour glass the grain of sand as 1t

’ - arrives in the lower chamber from the upper, momentarﬂy ralses the level of

‘sand .1n the Tower chamber (1nc1dence); as it 'ls buried by further grainsa_ of _
: sand At sinks lower in the steadily accumulating p'lle (decadence) Nithout :

altering 1ts mater1al position it can be seen from either of the contrastive’ .

jncldence/decadehce'one 1s typical of the bin"ar,y'_ contrasts utild zed by

Guﬂlaume‘ln ‘his models df un.derlying content systems, - g
b N l - . : R o,

1.2. 2 Past and Non-past

. . -
It s very 1mportant to note\ at this poﬂlt ‘that ‘the divisi_on of tlme

: _’spheres in English is not represented as in decadence,’ but rather -as from _' oo

the po*lnt of view of ﬁtidence (see Hewson l972 65).

e .. future |___ dé_c’:adence > past. ' 1nc1de gg 5| future

then, .

1
1. (}) . oW (b) .

(a)=talked - (b) ¥ talk - S

English through 1ts two tenses does not represent time as starti ng from the

future and extend'lng 'l nfo the past. - "Consequently events expressed through

e -

. "’g.’\

i the med fum of the two basic tenses are seen as unfol dingj‘toward their con- . .

-

. clusion: _they haveﬂa beginnlng,‘middle,and end. They have therefore an ..,

P al M .
. . a

iv - * . L .
A - - : . ‘ '
. . . - . .- N
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overtone of the perf.ective, they" represent a complete event, a fact which

R : only t?e aspect of 1ncidence can of fer" (Heivson 1972 65) For example 'x

(4) I talk “too much. . o o

(5) Italkedtoomuch I S
in (4) e have represented an event ‘which s a perrnanent qualityfof thef
person peaking, impli“ci tly, this event began ih the past and: this state

' of affairs (talking too much) may continue to exist into the future.*'- In (5)
the event began in the past developed towards the future and ended. 1In-(4).

"the verb depicts the existence of a- state gt a particular instant“ (Hirtle

1967 46), leaving the preceding and succeeding portions implicit So, both |

I .

represent time as in incidence < ‘ -

It is because incidence offers a view of -an event from its fnitial to
its tinal bment that ihe two basic tenses of English express a materially
completeevet Ih, ' . ‘. &

. - ()] He shootsl He scores' |
the event of scoring is necessarily a materially complete event "'Being
canronted with the action as’ a whole ]:scoring is finished'j the speaker feels
it to be non-prospecti ve arfd so expresses it as perfecti ve by means of the
. simple form,..." Hirtle" l967 38) Hirtle, makes a very clear and useful °
contrast of the simple and progressive in discourse that illustrates the
simple past tense used for\conpleted events “(Hirtle 1967: 27): o
(7) when the bomb exploded, he went into the basement,
p (8) When the bomb exploded he was . going into the basement.

—From A7) we know that (a) he went into the basement after .the expl%sion, .

and (b) he,made it into the basement Also in (7) the event. 1s seen from the .

level of incidence, giving: us an exterior view of the e_vent F From (8) we .
L] - ' i
{

’ . N i \\ S v .
- . . . \‘ \“ X; . Lo e g ws
T P N A R
: L et N R 3 ‘ - Kl
. i h . . *

teg . 3 N 0
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S . ¢ \.ﬂ:‘ s
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s are toid th9t he was, on h1S ‘way into the basement when tﬁe“bombaéaﬂfbded
‘ but we are not told -if-he made it’there. In (7) the event is comp1eted Yl
. ! R L . A :,,.’-: e % LR . \
0(8) it is incomp]ete. o . PR \*fvf '

- . . » . . e -

. - o‘ . - -
o™ AN . . - < . . . 2 T

1.2.3. Present

“ ) . ': A'HaéingéEitagiiShed that.there are two tenses'in Engiish ZpaSt‘and noni" ‘ -
oo :'past, and that.these represéht an event .as unroﬂ]ing from 1ts beginning to : ‘
‘ Sits completion (as in inc1dence) 1t is necessary at th1S p01nt to con51der

what separates the .past and npn past the present _ Exactly what is the ,
;- "present and what .form may 1t have in discourse? T i .
A (9% *"1 wa]k'to school i ‘ ) - L ) ;:. o

The event' in (9) is. not present in that one wouid not expect the event so '
'represented to be taking p]ace here -and now. To express the event as . I

o

"happening "at this very moment" one ‘néeds to say -

. , (10) I am 'walking to school o . S
"I English the experiential present (here and now) is represented as ‘a -
TR threshold comprised of ‘the last moment ‘f memoria] time and the very, first .
moment of non-memoriab time (see Hewson 1972\*68) = . o
‘ R ../ ¢ . ’ . ' . o . A
. l. Then] . Now, / Now2 : _ "Ly Then,
‘. . (Past) ST (omega) / (alpha)_-_ . Future

3% SRR v

Note "that the omega,moment of the present is ;een/asfbelonging to the past.,

. while the alpha moment is represented as belonging to ‘the future. Cohse- o

:quently one sometimes finds a 51mp1e past tense form used to express the ',3" X
" Present ;. ; B \"J ' N ‘ . Th
¥ o T oMm) This is the first time I ever ate caviar, \L ;

It is also- possible to t\ﬁﬁ instances of the non- past used to refer to the

\
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" future:

° . Lan . Vesre.

‘(12) I'11 ask him when he comes in.

/ .Ihese types of statements are possib1e because of the very nature of the

-1:»

e underTying tense system of Eng]ish and the way 1n which the experjent1al

&

f

AN presfnt‘is represented 1n.the system.

S

CLEA Quas1—nonﬁna1 Mood =~ - ' N~

D ] B ’ /

In English there are three moods quasi -nominal, Z subjhnctive.'end
indicative. "The,quas1-nom1na]lmood has three tenses: the infinitive,
which presents an event whosé whole development is seen in the offing, as

event time which has not yet reached the point in universe time when it is
. . ] . \ . 2 -
~ to be actualized; the present participle, which.représents a partly devel-

> oped event...; and the past 'part15:1p1e,whose event Js over, §@en in

. _ x\\(.‘ : 1.3 Mood o _.°' . . ) .' ‘ ' E ./'\

" retrospect as event time which has alreddy eiisted:}*ﬂfrtle.1967: 16-17).,_A

diagram*represents them as follows (Hirtle 1967:-17):

"

- e——<

* ‘

"Thus in the Eng11sh qua51 nominal mood it is the descending movement of

3

universe t1me which, in the absence of ‘a subject brings events from the .

-
v
- n -

. /. ' . - . ) ) L C :\ . . )
) D \h 2 Hirtle 1967: 16, fn. 29. "The quasi-nominal mood- is- so named
because of its ‘position-in ‘the system of tongue at the borderline between

the verb and the noun. system. Thanks -to this position, the tenses of "the-
quasi-nominaT mood can have noun and adjective functions in discourse,": .

-

—e

h

A
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‘not yet' to their actualization and carries. them on into the ‘already’ " -

" (Hirtle 1967: 17).

It 1s very. 1mportant to note that the _quasi-nominal mood which’Iacks a

4

subject and event time, can be situated anywhere 1n universe time. ;%t this

stage in -the chronogenesis 3 of the Eng]ish verb, time is not yet divided

.1nto memorial and non-memoriA) time, there is really only a large stretch of-

. \ S
universe time which at any 1nstant can be converted into -the '‘already’.

. v
L

1 3.2 Subjunctive Mood - . o

The second stage 1n the chronogenesis of the verb is the s ub;unct1ve.
At this point in 1ts deve]opment the verb has the e]ement of person added

. which gives the-acthcn an event time (but no time sphere). “In the Eng]ish

verbal system such an event is... not represented as being re]ated -in any

way to our own personal empirical experience of t1me and remains a potent1a1

theoretical, unallocated eVent" (Hewson 1967: 70).

Before going into a Gu111$hm1an description of the subjunctive and how ‘;

"1t operates, 1t is preferab]e,t0‘considerl1ts morphological and syntactic
! g :

forms. -The'subjunctive is identical morphologically to the jndicative

except for‘(a) the'verb to be and.(b) the third person singular form where

—

‘the subaunctive lacks -5 -

(13) It 1s necessary that I be home early (subjunct1Ve)
(14) 1 demand that he withdraw the statement. (subjunct1ve)
(15) I am home- ear]y (1nd1catiwe) -~

_(16) 'If he withdraws the statement..; (tndicattye)

!

In (13) and (14) we have~the subjunctive forms (I be; he withdraw) which')

3 See Hirtle 1967: 20.for a definition of chronogenesis.




.. n English (Harsh 1966: 25). . 7' ;

v y

- P - CN

-~

 are different from the ind1cat1ve'(1 am, he withdraws) Besides be as in

(13) the verb to be has a past form which is d1st1nct1ve for the subjunctive

(17) If I were you... (subJunct1ve) _
(18) T} was at the theatre (1nd1cat1ve) ' T

J .
Note however, that the verb to be 1s the ahly Eng]1sh verb to have a

: distinct morpho]ogica1 form for the past subJunctive

‘Most grammars of Eng11sh also note certain other syntactic peculiarities
of the subjunctive: (a) lack of do in the negat1ve, '

.(19) 1 demand that he not withdraw the statement. (subaunctive)

gf, ‘ (20) If he does not withdraw the statement.. (1nd1cat1ve)

(b) the USua1 order of tenses is not f011owed . , .
.o (21) I insisted that she be home early (subjunctive)
. (22) 1 1nsisted that she was home early (1nd1cat1ve)

These ‘then are “the morpho]ogica] forms and’ syntactic features which are

pecu11ar to the subJunctive.

The fact that the subjunctive“is identical 4n form; in most cases, with

" the morphology.of'the'1nd1cat1ve°mood is probably one reason why people like

Kruisinga (1941) say that one is not just1f1ed“to say the subjunctive exists

/ A
. {_‘iﬁ.
In the simple English tenses, as was prev1ously stated all action is-

s

seen as in incidence - it 1s seen to unroll in the directfon of the future.~

" "In the past subjunctive th1s capac1ty of the subject [to cause»action to be

f seen at the level of 1nc1dence] is countered by ‘universe time whﬁch is still

represented as descending toward the past" (Hirtle 1967: 18)

- , r ........ >
o0 ==& : : I ———O
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. "In the pr’esent subjunctive ‘on the other hand, the movement of universe
time has been reversed so that 'I t is now seen to be ascending toward the
future" (Hirt]e 1967 18). As a resu'lt of this representation the event 1s
seen as unro'lHng toward a real existence in t1me. But, as was previously
stated since the subjunct'lve has on,}.y event time and doés not estabHsh time

-, s

spheres 1t can only become a. potent'Ia'l event

- 3 ' 3 .
4 LI K \
.
,
N

(he) work " s --5“

5o~ _ SN S

1.3:3 Indicative Mood

F1na11y, we come to the third stage in themnogenesis of the verb,
o~
where universe t'Ime is divided into two (2) time spheres - the 1nd1cat1ve
mood At this stage the event 1s represented as having not on'ly form but

also actuality. In ‘the 1nd1cat1ve mood. an event’ 1s situated efther in.

memorial time or ‘non- -memorial time, which is separated b_y the threshold = the

here and now. It is only when the chronogenesis has reached this stage that

‘the development-of the verb 1s. complete. A diagrammatical representation of

 the indicative mood in English would be as follows:

+

meorial. ' non-memor{a
time N time B

(he) work'ed

¢

(he) works . .

l_ } - - b oo'

_ oo’ ” ’7
e o TN~ past | ‘. ‘ non-past .-~
e T T T Tifverse ti"'"’ -="
1. 3 4 Sunmary of the Moods ' ¢

To summarize the chronogenesis of the. EngHsh verb the fo'l]owing
diagram (Hirtle 1967:20):
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.~ chronothesis < _ — quasi-no
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. b LY
(he) were .
.. second - ' - " C '
chronothesis / - subjunctive

E l 4. Asgec L S v

/Qhe) dé Z/ o " B _ -1 :

| h '

e) went (he)'goes

P

thirdg .
"+ chronothes{s -

1 indica ive ..

7

Although English has only two tenses (past and non-past) to represent

divisions of time, English does have the means of representing more than two 'n'

time divisions. To make up for its lack of tenses, English makes use of a.

y

l

s

.system of aspect whereby an auxiliary and a verbal are combined o

"There are two main sets of asﬁectual forms, distinguished by the

_j morphology of the auxiliary involved The two sets of auxiliaries’ are called .

;r

the grammatical auxiliaries and the modal auxiliaries" (Hewson 1972: 79)

. According to F.R. Palmer (Palmer 1965: 19) there are eleven auxiliaries in h

English - ‘be, have, do (gramnatical auxiliaries) will. shall, can, __y,must,

ought, dare, and need- (m?dal auxiliaries) But, most grammariahs question the // /

. PR ) ) ./
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~ (c) they.have” no imperative;

h)

Y * oL te —e

, r
q.

final three - people 1ike Paul Roberts (Roberts 1968: 72) and Yoshinobu .

Hakutani (Linguistics 90+ ll 19) Even Palmer shows that their use as

.o auxiliaries may be’ objected to. Leaving aside the.arguments for or against

(\

“ their inclusion, I shall ge ahead and consider the formal characteristics of
the auxiliaries starting with the modals - The modals are morphologically
similar t8 the subJunctive in that (a) the third person singular "does. not

take -§: E - : A - ¥ Lo ~

(23) He can play hockey S

(24) She mus t g0 home. c s ‘ o o, d'

(bltthey have no fnfinitive or participle forms
(25) *maying; *shalling

'126) *Must! B
. {27) *Ought'* -

"(d) they do not require the use of the grammatical auxiliary do in negatives

‘and interrogatives. For example, S - A

2

- ~ . ¢ (28) Must he go? c . h ' '

(29) Win vou be there at nine?
" (30) You need not be there ‘at ;11. :
(31) .He @ay not leave the _room. |
(28) - (3l) do not utilize do.

-,

U T

1.4.1 Grammatical Auxiliaries

Except for do, hgwever, which may not be used in the infinitive oﬁ

ay
K]

(32) *done talk; *to do talk e LT

v

participle form (as an auxiliary)

the grammatical auxiliaries have all the morphological forms of the

L8

9,
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i ordinary verb. ' Hege, however, they (do, be, have) will be considered only

in their functions as auxiliarﬂes. ..

[
-

As stated above. the auxiliary do may not be used either in infinitive

. or'participle forms, possibly because it takes the‘infinitive without to as."'

fa

“qts verbal content.. “Since the content of the tvo parﬁiciples is fbrmed

from- the content of the infinitive Cand not vice versa) we may expect a.
resistance not only between the dependent ‘content infinitive (1.e. talk), and.
a gdverning‘grammatical infinitive'(i.e. (to) do) but also between the ~

coritent infinitive (talk) and any other governing grammatical content

kderived from the inﬁinitive which includes both participles (d oing aqﬂ, ﬁg"

. (33) *doing talk IR | o g
(34) *done talk " S ST |a

iHewson 1972: 80). . 2 L . . \

.,

The auxiliary do 1s used mostly with verH'vto form. the n egative and

intérrogative as in - ‘.

.
e

(35) I write, " do not write, Do I write:
. (36) 1 sang. 1 did not sing; Did I sing

-However, with other auxiliaries da is not{necessary

(37) 1 may not go; *I do- not may go .
(38) Have I gone; *Did I have gonei/

The role of the auxiliaries 1s to bring gramnatical form rather than

. lexical content to the verbal arrangement Thus Guillaume says that the

..auxiliaries have yndergone dematerialization and have lost a great deal of

‘o~

‘their lexital content. But, all lexical content is not lost or the
auxiliaries would have become merely inflections CGuillaume l97la l44 148), ‘

Do as an auxiliary seems to “have suffered the greatest loss of content

-9.’;' '
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-of any of the grammatica1 auxi]iaries “The ﬁﬁéﬁinghof do is very broad-and

e

it 1s .very often used as a "pro-verb" for other verbs. "To do something"
PRta . }?‘?4'?
JI

means "to carry 1t out" as in .

(39) He went-anq so did ;m - . 5

but,'even this tonction is lost ih sentences sﬁch as the following:
(40) They work harder than you do. L L o
In (40) do mere1y represents the grmmnatica1 “carrying out in: time (1n
1nc1dence) of the ctntent of the replaced verb or of the depéndent infini-
tive“ (Hewson 1972: 81) Do being very abstract, répresents only the_‘m*1%/

grammaticaT”conditions ‘of the 1nf1n1t1ve and the 1nfinit1ve carries the '

o’ FOR

. content (see Hewson 1972 82) h ' : ' - o

e L

a

)' L
L] . !

& - do A - ) talk o

f1e1d of condition = o fier of consequencej’

. As was prev10us1y stated the 1nf1n1t1ve form carries ‘the lexical .
content of the verb; the grammatical auxiliaries are used to express the
grammatjcel conditions for the representation of the event. Do {s used
mainly ‘as an aux11dery'1n negetion and‘interrogatton, thch c;11 into
questioh the‘os:currenceof’th'e‘eventm By "using do as a buffer! (Hewsonn, '
1972 82) the queried or den1ed event 1s ‘not’ predicated d1rect1y of the ”"ﬂ -

subject. Ehis, then, brings.an end to our consideration of gg_as_an auxil-:

3 e 9

iary.w c - N
| Before discussing the aux11iar1es be and have it 1s necessary to dis-

cuss the two verbaf -aspects (views) of English: immanent aspect and

transcendent aspect. The 1mmanent aspect?js concerned with the 1nterior1ty

of event: tinet This aspect does not permit the mind to "go beyond the end l

of the event" (Hdrt]e 1983 213) Thus, if an event 1s seen as "something

-

. » . .
. ~ v .
LN . . IS s ' .
. - . - v
.. L. . » R
. - o
. ) -
. . . con ! )
. - . .
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nascent, 1nvo1v1ng a cd'nﬁng-to-be a déva]opment tending toward‘s its rea'fli-
"zat'lqn. ‘\ (Hirt'le 'IQ67 s)° we have the 1mmanent aspect *There are thus
,.several poss1b1Ht1es "the speaker can represent the whole of the action
~ from beginn1ng to end, e. g He read the book; or he can represent on1y part,

BN

of the act'lon, imp]ying the rest as a poss1b'le accompHshment e. g He was -

. reading the book or the <eVent can be evoked as a whole yet to be actuaHzed

PR FELIN

in time, e.g. He didn't read the book. The 1mportant thing in: the '1mmanent

PO IPTN

aspect is that... the representa'tjldn '1nvolyes the interior Q_f‘the'event" o
(Hirtle 1967: 15). I N o

As for the transcendent aspect, it 1nvo'|ves the aftermath of an event.
l"Irl the transcendent aspect the standpoint of the mind is no 1onger within
. the confines of . the t1me occupied by the event but beyond- the 1nstant when

14

the event_—tj.me,expires. This new position is dec1ared by the auxi'l'lary

7 "The who'le of the _event can be depicted as 1y1ng beh1nd _the result phase.

*‘e g. He has read.the book; or on]y part of the event may ‘be- represented as

having produced the resu'lt,.e.g. He has been reading the book" (Ih.rt'le 1967.

.15). {See the diagrams on ‘the next page.) - s , A
i It is, 1mportant to note_gat/‘s)g pect as mentioned 1n the previous two

paragraphs. the. different v1ews of an event, is not what we are ta'lking

Y

~ about when speaking of aspectua] forms . The 1mmanent and transcendent

IR A aspects are. really referring to two different notional views of the same -

event (gsxchisme' .mental representation). The aspectual forms (aux111ary

Plus verbal) - semiology - are used'in English to express di ffere_nces of

Fd

- time that cannot be expressed by the two tenses.. - . ’ T

- R‘ -

It 1s* 1nterest1ng to note _that the transcendent view of an event, when

-

an eVent is v1ewed fr;om its exterior, utﬂizes have as its auxﬂ1ary.

. - B

' .»
PN
» . N
. »

.
&
—

have;..." ’(l{frtle 1963: 213) With 4t there are two poss1b'i'|1t1es‘ﬁn EngHsh.v |



“However, kgfgjves‘a view of an event from its interior, so it is the
| 9l e \ ,

. \] . . C, :
x auxi]iary used to express 1nter1or1ty tO’the materiality of the event, Thus,

e ...the 1ex1ca1 re]ationsh1p between. these two verbs be and have may be

expressed in binary terms" (Hewson 1972: 83)

'~

. * be| %ém ce have: . -
: R >~ ~, %
. immanehg 1ew of -7, . transcendant view of T
o existence \(exist- . . existence (essence)- B
L ence). - .
»¢ . man confronted by man confront1ngrt1me :
~.time. i ’ .
S (1ntransit1ve) (trans1t1ve)
) ?1 L ,' £
¢ Lt The re1ated verbals may a1so be placed.in b1nary
R . -» contrast. . . .
t ) talking SO talked
Lne - -
k interior view of . . - exterior view of N
o : the' materfality. of . the materfality of - . BN
. © othe'event' ./ .the event

cs L (1mmanence) .. " (transcendence)

\

The fo11ow1ng two d1agnams make the two views of an event clearer: Hewson

1972 83 contrasts the two views ' as fo]]ows -

AL
. % talking Fﬁ’b (immanent vt
e S 1 :
. talked = - (transcendent view)
f [< ; ‘SEEVe .

A

while Hirtle 1967 16 represents ‘the contrast between the simple and the

transcendent as fol1ows

-

LR
. ) ) - F - . .
o, B . N - _ . o

event s coming-to-be . v :
—_— — ___5, —> —_ o .(jmmanent view) .

£
- ¢

. - . . .
[ 4 -

B . ' ' E _Aftermath ~ (transcend-

o e - 17;,157' of the event ~ ent view)

-
< [
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" When we consider the auxi]iaries Qg_and have fn detail, the first

important point to beﬁmade about them is'that they are utilized in ail the

' aspectuai verb forms i Be' as an auxiiiary, being demateriaiized and

1L el
.r;'na‘ .-

a2

s-d("‘

‘S__d-*/

'bringing very little lexical iﬁntent, expresses ‘the notfon of - "interiority

to the immanence of the materidlity of an event™ (Hewson 1972 .83); 1t also-

brings the grammatical conditionS-for representation of an “event Within the

" realm of experience. HaVE, on the other hand “expresses exteriority to the . .

‘transcendence of the materiality of the event. as seen in the diagrams on the

previous page. .

-

* Next to be discussed are the progressive and perfect (be and have

.aspectual forms respectively) in English. As will be. seen in the ensuing Ca

. discu5510n each form (be or have) may be used to express different views of

a

an event and gﬁ produce different effects. ': ' : } . o o
\'. Non-?rogre551veu Progressive L ferfect' |
(to) strike " (to).be striking : E“‘ (ta) have struck
_;triking-:' ‘ *being strihingﬁ { li having struck
"st:uck . - being struck J". *have struck _

-(that he) strike ~(that he) be striking. (that he) have struck

., Hestrikes . He s striking : . He has struck
He struck - _He was striking He had struck .
" . He will strike He‘wiii be striking  He will have struck
| He uould'strike' He would be striking™  He noujd have struck '
He.ds struck H;'is being struc& . He’has been struck
He was struck o He:was'being’struck, | He had been strick

- One may note that the progressive indicates an event with open perspective.

_ While the non-progressive indicates the representation of an event as

?
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something closed. ~The progressive fs used (a) to indicate an event that is

not yet“finished orfof which one‘is.uncertain whether.{t might continue, ,

@ o

© (81) He s striking the boy.
| (42) He had been waiting.for hours.
‘~(p) to represent the materiality of an évent 1in progress,f
(43) The world 4s turning on its axis. '

or (c) to. lay emphasis upon the subject, with possib]e contrasgiuith the ’

simple, as in ®

-~

(44) ‘she {3 1 in _on the couch At the side ofithe couch si -
S | woman as n;grie( .(Ex. collected by Hirtle) ST .

In (44) the woman 1ying on the couch is\the centra)l figure - this is done

—linguisticaiiy through the use of the progressive. The progressive, by

:

bringing in the spatial as well as the tempora1 parameter, can emphasize the

centra] figure invoiveq in.an event. "Also, since Qg_views an event “from. its

‘interior, the figure involved.is’ emphasized . . R

We may now contrast the progressive with the perfect which, since it.

“ry

necessarily contains have, represents the transcendent view of an event. In;

contrast to the progressive, the perfect is used to'indicate an event as seen ' /.

from its exterior. In the perfect it is, the. tense of have whith determines

‘¢ ——

'the time. in the whole verba] phrase. For example, . B R

. (45) He-has walked to work. ,

is non-past (present perfect) but it has past reference. To further clar-;"\
“ify this point, it can be demonstrated that one cannot use a past adverb with/
»the pnesent perfect without making the sentence awkward. &

(46) *He has waiked to work three times last week

. '(47) He has walked to work three times this week. ) g
" The fact that the present perfect requires a'non-past adverb_illustrates that”

ht
e @-

~ g

It v N b W
- b~ -



* 1t {5 not past tense.

. ues on into the future.

' (b)_Theﬁsame aspectual effects are found with the same basfc mdrphoiogx-‘* ,

It does, however, succeed_in*representing the event ff'h

as over_(réthu)‘fn the present; in order t§ be o;er{ an event.must.have_'

' a1ready occUrred-in?thJ 1mmed1ately preceding space of time. { L

“The transcendent view of an’event represents the event itself at the N

s
. ;,

level of decadence, since the past participle 1s_wholly 1n decadence.

- b JRAE SR N
<

l Iﬁhave i L

v
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'talked
«.a < ) l X

English représents ttre in the verba1 system as spmething.which contin-

P

The following three d1agrams (from Hewson 1972 88)’

AR - o , ~ I'talked, o '\,/ '
- Retrospective - D A L
' forms - I ___have . - thlked . o v
f' <o *,.’urm.' N ‘ _'Q. o o
v ‘ S o , ; "

Ty ! ' R . N B .
' . . K ¢

. ) = v, 1) £ ‘ ,.‘

in the past-tense:- ..

[ - .
. ) _ , o g
. ' ﬂ N o S
’ % - .,
e ’,
. .

will 11lustrate the various views of an event. A
. a . . . : - ,
(a) at the level of-thq;non-past A S o s
: e P S Py
i ..« Presemt. . = .- o A ‘
I - Lo — Ty ..
- o I talk | o e 8
. Prospective:
, S Ie_l__-em-tslms . forms® -
° /: . - ! ¢ ¢



RO Present Future
W Iwill L s tal T
b ‘e .. N . - ) . B/ ~
p | J o B talking g -
L E _have talked’ | . '
. a - Q,x I . "/\w
- .. chave been _talking_ 5

'fn

resented ‘as being partiaiiy complete.

[

, o
Past - -

i.taiked

1had tatked” | .-

I had been talkiﬂﬁtii%._

. . *,_—

s

compietion, it canaoniy be tompleted in the future.

4

(c) The same is true for the verb forms constructed with a moda]

-

auxiliary: '

The progressive, in the ) preceding. indicates an event which -is rep-

Since the event 1s left open for

But the progressive

aiso indicates -an event which had 1ts beginning in the past and so contains, .

both "accompiissement" ‘and- “accompli®.

T ; .
X . } . : " . . . _"‘ "’2 e a
" 1.4.2 -Modal Auxiliaries e ‘;fi?u;_»:zf

now consider the use of ‘the modam—aux1liaries in the‘English verbai system. o

»-

Having considered the system of the grammaticai auxiliaries we shall

] According to- Pa]mer, for.a verb to qua]ify as a modal it must meet -his “four

'(Paimer 1965

1o 26)

i

\

»

Palmer says that the- reason for much of the .

ot

conditions which he ca11s negation inversion, code .and emphatic affirmation

ﬂ
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-controversy over the use of ought, need, and dare as modals, springs from the

o - !

. ': fact that- they do not meet aII of h;s “eriterta. o o -

ugh and mus t refér on]y "to the present but with ought + have one can.

: create a past reference : D _ )

(48) He ought to come. (non -past reference)

LTt _ (49) He. ought to have come (pastsreference) o
.. '\; 'r“— . . - j- ; - . * ) v . ~
D . " (50) Must you cry? ) e;? . s e - ‘
7 R . . ,‘ :1_‘—'/____.__

Must has no bast reference, s1nce He must-have come still has:present _-:fg/

reference - To get past reference one has to change- the -verb-- tq‘had to.

o

M./
(51) I must go. (nonapast reference)

. P (52) I had to go. (past referench) R ~)/

-qa ,‘_'

As for dare and need which are the mdst often objected to as nndals,

o thetr use as modals and fu11~verbs wil] be - contrasted to show that they

. Af certa1n1y are modals in certain cases. ’»'. .
. (53) He does not dare to. write her, (verb) ¢
_;fi‘ (54) He dare not wrfte her. (auxiliary) u
. | - y e; (55) He does not need to try. (verb)‘ '
- L}" ,;;" (56) He need not try (auxiliarv)n B _ T

Need and dare.,when used "as full verbs, take to before a“fo1low1ng 1nf1n1t1ve,

.
>

while they do not. take to when used ‘ag aux111ar1es‘ T T S
S ‘ IR R Co
- NILL.andVSHALL L S P

-~

-The modals will and shall-deserve special considdration since they are

the auxiliarjes used by speakers of English to form the future. 'As was stated
| ‘Q? ' previous]y. English. does not have a future tense, and thus has to form the L
; future by means of auxiliaries "It 1s the role of the auxi11ary (wiPl or

sha11) to occupy a stretch of the non- past, as large or as,small- ‘as may be
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-dseful; so that the event (expressed by the infinitive) must be situated

justeheyond _this stretch The future 1s formed by placing the event outside

the portion of the non-past occupied by the aux111ary" (Hirtle ]963 112)
/

The following diagram (from Hirtle 1963. 12) wdl] help make the concept

clearer:

.o ~ ~ work . . : -
. SRR Y
- o wy : f

past . n n-past

Y

i

So, the auxi]iaries w111 and shall play a very impartant role in express1ng

* future time as n
BN (57) 1 willlgo tomorrow. -
They may also combine with ge_and,hg!g:to'form the progressive and perfect
: (58) I'shall be §oing tomorrow. : ./»v ‘

(59) I will have.gone tomorrow

.

-t

In American usage there 1s a growing tendency not to d1stinguish

'between w111 and sha]l - in my own speech I feel no difference in tne1r

usage and 1n most cases I use them interchangeably. But in many parts of
the Englfsh speaking world the difference between them 1s still feLt
example, as Hewson points out (Hewson 1972: 90), in.

(50) Shall'I open”the window? o | S ”K\
the speaker is asking someone (external to himself) 14 he is obliged to open
the window ~ the decision is left'up to someone else.  But in asking

- /

(61) w111 I open the window?

4‘7 , . ‘
°xthe speaker s uncertain as towhat.he should do and as. not yet made up his -~

own mind

As can be gathered from (60) and. (61) both of the aux1]1ar1es have to

do wlth determination - -shall being representative of external determination

e

: |
. |

Ao LA
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and wiil representatiVe of interna] deternﬁnation ‘When a speaker expresses
~determination upon himself, it is internaiized being internaiized he makes

up his own mind as to whether or not he intends to do somethtng. But, when a
speaker expresses his determination upon someone eisg, his determination is‘

externalized. . -

CAN and MAY ) : ) .

For many speakers of Engiish the distinction between can and._JL is aiso

1
o ¢

Jdiminishing but, at least in my own speech the distinction is ciearer than
/"kthat between will and shall. Can and may both deailwith potentiaii_x, as in

R

'(62) May I carry your books? - .
3(637 Can I carry ydun books? “
-(64) I can run a miie in four mihutes. y ' . ‘ . ' .
" (65)'T may run a mile in four minutes. '
From (63) and (64).it can be;;een that one has the capacity for doinéhsome-
thing; can thus presents an internai view of.pdtentiaiity May, howeVer,
takes for granted that one can do something, but ledves it open as to whether
or not one does something - ‘external view of potentiality. C 4 ‘
Sentences such as (64) deciarg;"the existence of the runner's capacity
without evoking the actuaiization of the event. (runfﬁitself This explains -
* the particular aptness’with which these auxiiiayies—FEplace the subJunctive
mood: the iatten indicates the refusai to approach the actual on the verti-
. cal axis of - the chronogenesis; the auxiiiaries indicate a withdrawai from the
Lot , actual into the virtual on the horizontai axis of the same" (Hirtle 1963
127).

This-brings an end to our discussion of the verbal system {in English.

There is a great deal more that.could be said about the English verbal.

o : L
) .
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system, but this brief descr1pt10n should be sufficient to provide-a

———

contrast with the French verbal system which wﬂl be d1scussed in the next
c_hapfer. . o ‘
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. CHAPTER THO o

. TENSE, MOOD, AND ASPECT OF ‘THE FRENCH VERB

‘2.1 Introduction’ x - o

Probably nobody has had.more profound insight on the content system of

the French verb than Gustave Guillaume. It is.in.this area, theAarea of -

la structure psychique, of language that he made his mostuprofound obser-
.vations and put forward his most notemorthy views. On the basis of his
theories in this field of language one i§ able to .explain phenomenauof f
language which, before his time, were often nnsatisfactorily emplained.
2 2- Tense_ ) T K . -
S SRIER T ‘ ) . , |
Before getting- 1nto any specific aspect of the French verbal system, we .
shall, first of all, see how the French v1ew time through the med {um of the
~ verb, Through the tense system, the French see time as coming to be
(1ncidence) and a]so as having come to be (decaoence)t In a diagram -

(Guillaume 197Ia:“94):

s

., niveau d' 1nc1dence£LC* h1veau d' incidence - -
N niveau de- decadence[colniveau de decadence ~

o

'2.2.1 The Present -

From the above d1agram we. see that the Eresent in French 1s represented °
as a thresho]d which 1s comprised of the f1rst moment of the future and the

last moment of- the past (ci moment and o) moment) but 1nstead of being

.'horizontaIIy organized, as in English, it js uentica11y organjzed. , .'f
— parlai I_ea:lg_ | parlerai
parlais \J/ ; \l, ) parlerais

"Le présent francais dtant un présentfyertical, i1 apporte avec lui %a

Le n1veau o supé%ieure, et Te

-~ ®

" distinction des deux niveaux qu'il comporte;’

’
$

» _...._..
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niveau winférieur. Le niveau e est le ‘niveau d'incidence: celui du / -~

'temps arrivant; le niveau w , le niveau de décadence: celui du temps.

arrwé“ (Guﬂlaume 1971a:  94). From th/e dlagram, then, it can be seen that

the < moment .is continuaHy becoming an o moment, but the reverse is 1mpos- '

sible. - v

Because of the‘nat'u‘re. of the"present, French has five (5) basic tenses

in the indicative. . T T

" Jé‘par]e

: Je parlai
" Je.parlais o .
.:‘Je‘parlerail' o

e parlerais' ‘ T o o
The Enghsh present, bemg presented very differently, aHows for only two
(2) basic ‘tenses 1in the indicative, as was d1scussed 1n the prev‘ious chapter
We shall now commence’ dealing with .the various! tense forms in French.

Morphologically there are ',two past and two future tense forms in Frénch,

| which are divided by the vertical present. 'Now' the present has an o moment. |

(in inc1dence) and an c.:moment (in decadence) By definition, the o moment .
can-have no accompli since if accom pH exists we a]ready have " temps arrive" :
and, therefore, decadence. So, any movement of the present in French in- '
volves movement from the 'leve] of 1nc1dence to decadence. But, the present

-

can also be used to- represent the first moment of the future as well as the

-~

- Tast moment.of the. past. ' C .

; . .. o ' ' ‘. -

4 ¢

S {
< (1) J arrive... (o€ representation)

(2) Je viens vous dlre. ( representation')

L] . ) \
. . L. , R
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“The iact that’ French represepts the w moment as an element of the present
whereas English represents it as an egement of the past underlies the
difference between decadence and incidence" (Hewson 1972: 14Q)

) As can be ‘gathered from the'discussion up to this point the French
present is different from the English. "The}French present, as well as repre-
senﬁing both e and <> moments may also be used to express both past and .

" future in particu]ar contextual circumstances The use of the present to
represent the past is known as: the Historic Present, and may be recognized
as a stylistic trick to make the narration more vivid, since the writer there—
.by 51mulates the events as being simultaneous with the reader's consciousness

- it is. as. if he were taking the reader back to the: moment when events were.

‘actually occurring" (Hewson ]972 141) _As well, French uses the pﬁesent to .

a

represent the future: c - o,
(3) Je vais ¥ St-Jean'demain matin, o .
(4) Je sors dans deux heures. - ' {

Actua]]y, however, (3) and (4) show present 1ntention of a future event (this

was a]so seen in English) Otherwise, French uses the future tense forms to B

- h R . " N ‘. LI
represent future events Lo o ‘ e .

M - N |

(8) « J'irai a St-Jean demain matin, ) CT e

al
A\t

(6) Je sortirai dans deux heures. : '

'2.2.2 Tenses expressingApast time ' s

1o

> Having considered the present tense in FrenCﬁ"we sha11 now revert to =

.

discussing the two past tenses of the indicsfjve: (a),passe simp]e jn inci-

Q

dence and (b) imperfect in decadence. '

. o___passé simple iji;: :
N imperfect J/ ol o
. . R ’,J-l\ v
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- p and accomptissement In this tense we have a representation of the sub- ("

//
N

q (a) Passé Simple . ‘ .' ; . .

&

The passé s'1mp'le represents the incidence of a past event. ‘In this tense .

" the ‘subject 1is repres"ented ‘as placed 1‘n the initial moment of the -event and no

"movement is possible. But, the subject is represented as looking towards the

future comp]etion of the event anJ/can seé its conc'lusion.

. ‘ je par1a1 e | S
Thus’ the event is wholly accompl‘lssement- since the subject is represented

as 'Invo'lved in an event with‘in universe t'lme, we. should say the whole event

is accompl 1ssement ree] A

2

An analogy often .used to 111ustrate the view of the passe simple is -that

!

of aman in a room who is’ to start wa]king from one waH across the room to

" the other wall. At a- particu]ar por‘ﬁt-*in t'lme the man is in the  initial

position.‘faeing the opposite wall, ready to start crossing - this Ys the
! ! i - . . -
position of the subject in the passé simple.

[

Since, in -the passe simp]e the subject is seen only at the beginning of

the event "$.. the sense of the passé simple 1is often inceptive, 1i.e., it
'Indicates the beginn']ng ‘or 1n1t1ation of the event enly, especially with verbs
1ndicat1ng actions that are durative;..." (Hewson -1972: 143). Hewson quotes “ .

-

the following’ (1972. 143) - - .0,

(7) _Qui ne sa1t se -borner . ne sut jamais &crire. .
He who cannot discipHne h1mse1f never learned to write.

FE »

L) Imperfect - = . ‘ ' S

The 'Imperfect gives the representation of the “decadence of a past évent

-~

In u\sing th1s tense, we have a repres,entation of ‘an event which has both ac-

Ject who- can onfy 'see ﬂse part of thé .event which is alread_y comp'leted, not

\rs

the part yet to be comp]eted Since the subject is represented as on1y

» . @ Ao
i, ', - ‘.,L‘ a L ‘

cw » . . TR . . o o
- 4 “ - 1
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e i

have.
-~

. -29
b7 : . f ,

looking at the pat of the ‘event which is. comp'leted the uncomp'leted part pt :
" the -event should be ceﬂ]ed accompl'issement v1rtue1

Je parlais
R L B

<

'Again,_ we may use the analogy of a man movilng from one w_a\ﬂ of a room

) o
across to the other. But, to illustrate the imperfect the analogy is.of a
m2‘>starting'on one side of the room and hacking across the reom. This man

carfonly see the part, of the room he has crossed and the part to be crossed

. is behind him, At any point -from the 1n1tia] rﬁoment when he starts walking

-until the walking 1s ‘completed the man can view the part of the event he has '

comp]eted - the same is true of the representatmn of the subject of the

e
" p3
.-

1mperfect. T “/ .
" As, one can deduce from - the préced'lng discussions of the«passé simple and
the imperfect "... the subject can only progress along. the movement of inci- '

dence by turning each successive moment into decadence" (Hewson 1972 142)

- incidence . -

)

decade nce’

il X 4

' -
. To further ﬂlustrate the difference between the passe simple and the -
{

1mperfect we shall look at a pair of sentences from Mansion.(1963:. 65)
. (8) Il était bien triste quand 11 recut ma lettre.
l‘ (9) I fut b1en triste quand il recut ma lettre. ,

In (8) t'he subJect was fedling sad at-the time when he. received the letter,. :
the receiving of the letter did not initiate the state of sadness. In (9)

Jt was the contents of the letter which brought about tﬁe feeling of sadness; -

the subject was not sad before receiving-the letter. Diagrammatically we -~ -

é .



| C {0 etait - - |
PETELL LN N

(9) P il fut < .

In' (8) there is accompli ané accomplissement virtuel ,» while in (9) there is

only accomp‘Hssemen; réel with 'the‘verb héving‘ an 'jnceptive sense. Sq, in
'the'passe imple the ‘subject is bound to t_:he very .beginning Qf'an event, ’
‘'whereas wiCh the impérfeét the subject cén_b?located anywhere from"thex very -
.beginning of an event to its end. Guillaume gives the fol]ovi{n'g-two f(é)t‘rpulae

{/( s . ) {
(GuiHaume 1971a 107):, : , -

(a) prétérit deﬁni = dfcadénce + incidence - T
) e (nuile) . (tout) ‘
(b) imparfait _=' décadenc® + incidence | o
. (au voisin- - (au _voisinage C
T age immédiat immédi at de -
Lo , de la nul1lité) - 1la tota]ité)

»

“ He iHustrates his/t{‘formu‘rae w1th the fo]]owmg examples:.

(10) Il y a trois mms_ _un homme bien mis et de grandes
manidres se gresentait chez un biaoutier.

(11) I1 y a trois mois un homme bien mis et de grandes
mameres se presenta chez un bijoutier.

_Accqr:ding tok Guﬂlaume, ('IO) L‘or‘responds to (b) and (11) to (a).
The imperfect, being more con_xp]ex in its representa,tions than the passé . ‘
simple, merits further, more'detailed Jc()nsideration. Previously it was '
stated that the subJect m the 1mperfect can be represented as occurring
anywhere f‘?or% the event's 1n1t1a1 to its final moment. "This permits at Teast

th?\ﬁ different rfepresentati,ons of the imperfect.
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‘woe, \ ’ ) . 3]

Y TP

‘ L Guillaume says the fg]]pwfng aAbouta (a) and (b): _"L3 ol, dans l'emn_l_oi, '
-\"'Ia dér;ade'nce 'inhérente 3 1'1‘mpar"fa1't avoisine 1a nullité, 1'1nci'dence, g )
corre'latwement, se. v1rtua]ise, et du méme coup la noti 0n d' accomp'Hssement
est suaette a ceder 1a place a celle, p]us virtue]]e d accomphssem“e“’t

'Ains'i ]es 1mparfaits Las in (a) and (b)] peuvent ftra étendus, en discours,

oy
de deux manidres du coté de 1' m;idence, qu1 sera soit accomphssement, soit C

dnaccomplissement, L' 1nc1deﬂce est accomp]isement dans

P

Un 1gst£nt apres, le train déraillait (au sens de
: «dérailla, <<a deraﬂ'fe»),

el]e est 1naccomplissement dans
¥

‘Un dnstant de plus, le train déraﬂ]ait (au sens de .
< aurait déraillé> & nta pas- -déraillé >>)" i
(Guﬂlaume 1971a:; 109) \

As can be seen “From the above d1agrams both - (a) and (b) ‘involve "brink-
. manship"; (a) represents an event as just on the pomt of occurring while (b)
represents the very moment of- the completion qf the event. An example o;: (a)
e . ) | : . (
| (12) Un pas de plus et je tomba1s dans 1° abime.
In (12) the sub,]ect was in a posit'lon to take the next step, but d'id not.
~“An exam1nat1on of our schema reveals the sub,]ect as being in position to --
carry out. the event occupying the dnitial moment of accompli, but with the ,
| ..whole of the event st'l]] to come;..." (Hewson 1972: 145) A
4 Note that with (b) the subject is represented as being at the very moment
of the -cai’np'letmn of the event. Let us look at ,the fo'l'lowing examples from
Mansion (1963: “63). -y o v | ‘

‘ (13) Jde ren&yntrm un Jonrna'liste qu'i arrlvait de Paris T

(14), Elle sorta1t a peine du couvent lorsqu' il 'Ia
demanda en mariage. « .

hd W .. 4



' has run to its final moment ) ,' o . .

expressed in he present“ (Hewson 1972 146) ) ‘ T ,

o . o o '_A @ : ;
- In (13) and (14) the SubJECt is stiH invoived in’ the event ‘but the event

’

FinaHy we come to the third representation of the imperfect - this is

its ordifary representati on. . E . S

. = ' 2 ' . .‘\ . ’ ' '_‘ . , "
e o S
/ | ' oLl
This is the representati on of -the type of imperfect occurring in descriptions. e
oty . /. ":.
(15) n p]euvait hier»matin . o /
(16) Je pariais 3 Marie, qu,and J ‘ai vu Jeanne.

L3

This is also the representation "used to indicate habitual action, the contin-

. uation of the habit being represented by the accomp'lissement virtuel" (Hewson

s’ . ‘ ! —

1972: 146) ‘ N i . | e
- a7) Chaque jour i1 travaillait de huit heures a/midi ' ".; -

Type (c) is also the one used fdr "past reporting of uttergnces originaily X

f(18) -I1 m'a-dit qu’ 11 etait riche ' . . _‘ ' o A
"Since the ordinary present has a similar eiement of a ccompli it is a]ways
the imperfect that s used to report it in the past” (Hewson 1972: 146) ‘
Finally, the’imperfect of type. (c) can-also ' represent an event begun at a
rem’oter period and still continuing° " The conJunctions M etc., which

cause the use of the perfecti ve forms in Engiish, again underscore a direct

comparison with the present " (Hewson 1972 146) : _ Lo e
(19‘) Nous &tions ici depuis un an.” (imperfect) T o
;7. & We had been here for a year. (past perfect)
o 2.2.3 Ténses 'e;cpressing future time - oo T . 5
- . ‘ : . ' . : ‘ | - i Co e |
Future and Conditiona] - - " . : R VoL

In French\he presen is a threshoid separating past and future.‘ In the:




-

i~
B

W

- - was iess complex than ‘the imperfect Also '-'the'future tense qappe'ars" Tess
‘ . complex thai—th conditionai In the- futdi'e 1t is impos51b1e to have "any

{

: decadence .

R ° ’ © .
. : . . A
' ; ' 33
. . o > - , . R N , . -
. . ) . . .. s
o . ~ - - 3
S

past there are two tense forms - passe simple and irﬂperfect In the future

. there are also two basic tenses - future in inc1dence and" conditiona] in

s,
. P .
'S “ .- \

&" In the representations--of past time it was seep_that the'passe’ si'mple

b

accompli "sincem pHi. is the representation of the. materiaiitz of the event

" an impossibie gnti ty for an event that has not _yet occurred” (Hewson‘ 1972; 150)
"\

The conditiona} bei ng very simi'iar, morphologicai'l)J to the 1mperfect,
is smi'lar, in a representation of "brinkmanship", to the imperfect. In the

conditiona'l "_.. the sung;t.... is 'trapped' in mich the same way as the

subject of the passe Simp"ie - unable to move out of the initial positio

(HewSon 1972: 150) With - an imperfect of type (a) the sub:;eqt is c fronted

1n the conditional. "The subJect of the conditionai

fronted only by accomphssement vi

’

event the grospective reahzation of the event being reserved for thi future

L (Hewson 1972 1500-15]) Diagrammaticaily we haye . N —
) prospective reaiization S o,
I"qde"ce 'X T seral o F "t‘"_'e o
- ; __eefeeslel-reelizesiee--_l' it B
| i)ecadenc_e_ ix Serals St 2 N Conditi_ona} _

IN'Y o
'\

From the diagrams above we see that in the conditionai the indiViduai is

represented ds being at the very beginning of an event and forbidden to. move, _

Aiso being in decadence the subJect is represented as not being able to.

see the end |_of the event “Consequent'ly the totai representation is one of
5\..4

accor_np'lissement virtuei of what might be what could- happen, if circumstances R

Rl “_,, 'f_'. e . B \ K Q

< 2 . —_—
[ ——— - . . R . i -
: . . . » ‘ .
- . ‘ . .t . / .
* . i “ ‘ .
. I :
. . t L
Y + 1, g : .
. " . - H -
. . ° - L
- . . . AN
- ’ " h 1]
. ° . R , .
e : ' ‘e R

\ .

e potentiai rea‘lization of the T

4



, the fo11ow1ng example from Mansion (1963 70)

_vere to change'sufficiently éh-a110w the individual to‘move" (Hewson 1972:

s2) \\ e T
] { -
. "The most common/sense of . the Q\d1t10na1 . 1s that of the unrealized

’

event the event which could be rea]ized betausg the subject is in the-appro-'

..pr1ate pos1t1on to carry 1t out"'(Hewson 1972 152). We sha11 now consider

o

£

. (20) On a proposé de: percer un,tunnel qui re11era1t
directement les deux Va11ees

4

In. (20) the tunnel would ‘be in a pos1tion to connect the two va11eys, but the

event canndt be rea11zed since the tunnel is: not yet a real1ty :.- ¢

. As was seen previously, at the level of 1nc1dence t1me is, v1ewed as
comihg-to be, while the level of decadence represents»fi me’ as already ‘come- to-
be. Ih the present we saw that the o moment in 1nc1dence the first, moment

of xhe future becomes the moment 1n decadence, the- last moment'of the past.

Thus, we.can see that: decadence is the "past“ of incidence.

Since the future tense is represented 1n the 1eve1 of 1nc1dence it v1ews'

v

an event as coming to be;

.
I . ° . <4

< (21) Vous ferez: cgmme vous voudrez. '

the conditiona1 in decadence Views a future event as "past”, sihce decadence

¥ : .;. .
1s_the. "past of 1nc1dence . B ‘ Cogd .o
422) I1 refusa de'me.conseiller. Je ferais comme - .
je voudrais. . 7 _ - oL T

b\

So, in (22) he rea]]y said "Vous ferez comme vous voudrez " When this is re-
ported as a past event, the conditiona] is used that is used to represent
the,futurezgn-a matrlx of the past, thatis, in a situation.or context of thex
past oL, . . c - ‘r a

] Up to this po1nt, 1n this chapter we have cons1dewed the $ystem of

tense in French we have seen that French has two tenses at the 1eve1 of

’
t

[

. g -

~



~ time and future time. h " T

2.3 -Mood N e B

- Gyillaume (1971a: 80-85). o S

- -

e S . . 35
L - -

L.

incidence - passé simple and future; it has two tenses at.the level of decad-

ence - 1mperfé€t and conditional; it has a vértical present separating past

= ' . f . ’ . /.
' .

In tyéiEnglishﬂgerbaT'system.We saw'that-fhere are three moods » quasis =
nominal, subjundtive, and-indicat%ve: The French verb also distinguishes
these three moodﬁ morphologically and syntactically, So, in dealing with the '

aspect of .mood we shall follow the chronogenesis of the verb as 6ut11ned’by

2.3.1 Quasi-nominal Mood

The quasi-nominal is represented as being the least developed of the

moods. In this mood there are three forms which are not inflected for person:

‘infinitive (parler), present participle (parlant), ﬁastupakticipie (parié).

I3

-

Diagrammatically the mood may be ?epreéented as follows:

-

-
2.

2

v

a

2

; parlef :
v . ’ ‘ ‘ )
1 : paATant - . incidence

| S \l/ ' \ l/ decadence

. P4
=~ parle

<

- In French we Eee‘that the infinitive (parler) is totally in ipcidence and

" therefore an abstractfon. “Since events, by their nature, normally.require to

be represented as abstractions, it is natural that the {nfinitive, ;ﬁin.“ﬁ%_,

_representation of incidence, should be the most common representation of the '

event as a noun" (Hewsqﬂlib72: 99). Also, the notional content of an infin-
™ ‘ . '

itive is predicated of itself "and may thereforé behavé,much Tike a noun ™

(which is 1ikewise a notion predicated of itself). Parler therefore represents

_the congent of a content -'thé simple notion“of speaking” (Hewson 1672: 157).

-

-

\
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(23) Je 1eur ai dit de par]er.
." : 'J;'. The present panticip]e is partly in 1nc1dence and partly in decadence.
“w.‘ : - _Conta1n1ng decadence, it has an e]ement of materiality and is not who]]y
. abstract. "The present participle, since it ... contains an element of decedj‘
oo " ence 'within its representation, is more commoniy used as an adjective than as ‘
a’ noun. I? used as .a noun, it ds ... more likely to hypostatically represent

the person carry1ng out the event than the s1mp1e process of the event itself:

un passant. un etud1ant" (Hewson 1972: 100- 10]).

~(24) Un homme marchant .
Finally, there is the past part1c1p1e (parle) which is who]]y in decadence,
“and therefore -represents a. comp]eted event - unlike the present part1c1p1e
which- represents an event as 1n progress. The past part1c1p1e is therefore

more readily nsed as an adjective althoygh it "may in fact hypostatically be

used to represent -the person or thing bgund .by the result of the event: un ’\&'

fiance”, les morts" (Hewson 1972: 100). ‘Fo]]ow%ng‘are'examp1esfof the past -

e

part1c1p1e used as an adJective (Mansion 1963: 87): -

\...

[

(25) On 1ut le testament devant la famille assemb]ee

(26) La porte est fermee:

.2.3.2 Subjunctive Mood - . 4 .

t

The next stage in the chronogenes1s of the French verb is the subJunct1ve
:(; mood. At this stage the event 1s given a subaect and thus event time. But,
the chronogenes1s 1s still 1ncomp1ete since there is still no division made

between experientia] and non-experientia] time.

-

que je parle .

" . B . - v ) ’v -
incidence A oo ' o
decadence - . T '

"~ -que je parlasse
e



Notice that the event.can’take‘place at any moment in time. The event, at

this stage, is etill not represented as a fully‘ekperiential reality since it

ls not allocated to an( experiential time -sphere. "Subjunctive events in 9

French are therefore represented as belonging to the totality of time, which

is an abstraction, and represent time as thought of by the speaker. Consequently
. the subjunctive representé the idea of the-event rather than the occurrence

of the event" (Hewson 1972: l03). The subjunctive, then, in French,,1s used

\to represent.potential events; with possibility, not probability of occuri

. s
ra

rence. . «

’ The separation of the subjunctive and 1ﬁd1 ative is seen in the chrono-
genesis of the French verb. In the subJuQ:tive thte event is not allocated to
_ any time-sphere, while in the 1ndicative the event is alocated to a time-

sphere in universe time, ) ) R .

Cevent . .| '
.00‘\\ P /,ao'

~ Tuniverse time ~ — — ~ —

The use of the mechanism of the subjunctive is determined by the fact
that the event is felt by the speaker to be in the realm of the* possible o
Speakers of French use the mechanism of mood to distinguish the notional reaim )
of the possible from that of the probable, thus forging a~threshold between -
the two, as can be shown in the following dlagram (Adapted from Gulllaume

”w
1971a: 200), I
: | ‘ ) . |
_ possible. .|  probable ~  certain =~ _
ﬁmpérr1b1e ; .7 ' o
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'Notiona11y, when the threshold (1), separatihg possibility'and probability,"

is crossed we enter the realm of probab11it§? and thus the indicative is
used in French. Notionally it is axiomatic that an event must be possible

beforg it becomes probable or certain. As long as” the ‘event is felt by ‘the

speaker to belong to the realm of the possible (not the probab]e) the Speaker

of French will use the subJunctive
Before going further into our discussion of the subjunctive, we shall

discuss Guillaume's terms idée regardante and idée regardée. In complex

sentences there is & main clause and a subordinate clause.

f

/

(27) 11 est certain qu'il viendra.

In the main clause we have the -id€e regardante (Iluest certain), while in the

subordinate clause we have.the id€e regardfe (qu'ii viendra). Guillaume says
“On voudra bien remarquer quefpartout'et toujours le mode a pour détermihhnt
1'idée regérdante, et que, partout et toujours ayssii'c'est l'idée'regardée

i

qui en prend la marque‘ (Guillaume 1971a: 191). It seems then that the sub-

“juanive is found mainly in subordinate clauses where the idea of the main

clayse exﬁresses the notion of possibility. . "Mais si c'est 13 le cas
. . - ™
ordinaire, ce n'est pas le ges obligé" (Guillaume 1971a: 192).
(28) Quissiei - vaus réussfr. b g

The subjunefive in (28) "vient de ce que 1'idée regardante non rendue par des

_mots, non répresentée, est trds sensiblement une id€e de souhait, et.que le

souhait, le désir sont des id€es regardantes... ressoftissant 3 Ta conception

L]

généha]e du possible non depassé en probable’ '(Guillaune 1971a: 206).

-, The jdée regardante and idfe }egardée are important concepts to remember
in our discussion of the subjuhctive ‘The following diagram, which is really

an expans1on of the one on page 37 wi]] be very useful in our cons1deration

~of the idée regardangg and 1dée regardee, and how, \they relate to the subJunc-

\

.
,



realm of =
X

- realm of
probable

* possible -

&

'

. . -

» ‘ 1 3 \ \
. subjunctive 7 1nd1cative 7

If the force of the 1dee regardante does not transfer the id€e regardee

- from the realm- of the possible to the realm of the. probable we use the sub- .

Junct1ve which is rused in French to represent the jdea in the realm of the.

-

possible: , s : oo ¢

(29) n est 1mpossible'qu‘il vienne. . ‘ f.: -

(30) Il est poss1ble qu "1 vienne.’ i
But, once the threshold 1s felt to have been .crossed we are in the realm of -
. the probable and so we use the 1ndjcat1ve (see dlagram above)

i
(31) 11 est probable qu'il viendra. 'f-
l

(32) Il est certain qu'il v1endra

LT '-

. In (29) probabllity is really denied a case wh1ch requires the uSe of the

i

: subJunctlve .f : . [ ' ] e
~ ‘Now, we shall consider in more detejl the ideas that bring about the\yse '
’ of “the subJunct1ve Guil]aume has a very:* concnse yet useful diagram which

illustrates various ideas bringing about\the'use of the subJunctive (1971a:

.206)'.'. . .“- \ " :: o . ) | . s " /
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1

St

- désir - attente - ordre (commandement) - & - :
- ~/ ) a ’ . '
. volition - souhait ‘
- preference - et généralement, idée critique : " mode
o 1 | |- subjonctif
o8 [signifiant << trouver bien> , << trouver mal >> - o
6.8 : :
N Ipossibilitf . i o -
wE o < LN . . .
wg § hypothese en»situatign §] (subjunctif) ‘
n.c-':_ i - . . . L. .
Sy A . - S]-
—1s : S N
S2 ‘hypothese en Situation 52 (1nd1cat1f) 52' i
.= |probabitité | o e rde e
PR . . -, Nemp ) ' ,"ndicat'lf
—SsS3 esp01r - préuision - " (
— 8% o ' ' O '
N\ . )
S g | croyance
o S E . R /
£ 0 L
- a0 . taffirmation 3

¢

Be51des the above diagram, Gui]]aume lists the various 1deas requ1r1ng the

subJunctive as well as those requiring the use of the indicative (1971a: 216-

217). .7
| S |
Phase I ‘ '
(devant seuil S) possible ., . - (probabilité negative .prévision.
. f négative, croyance negative)

' désir, ve]ition (commandement )

. expectati e (attente 1rreso]ution entre la  _ .
. : ' prévision negative et la prevision
positive). , -
‘ idées critiques ' (juger bien ou.mal) ;o (
exceptiQni (discussion de p0551bilite 1a.seule

P - personne qui ajt vu clair en cec1 ..

supposition pure,
admissiop pure (faisant part égale 3 la prEvision
B négative et 3 1a prévision positive:
je suppose qu'il vienne)




hypothesé’

1}

1 ' P I

, - * .

‘ , recurrence de
' * que et si

LTl recur ence’
2) . éu' tique

antecedence

ap
A conJonctIOn
virtualisante

-~ o

Phase 11
v - ‘;, - y - -y ° '
(aprds seuil S) supposition _,

~ hypothése )
probabilité’

o espoir '

"e‘gnqupce positive’
E certitUde-' )
affirmat1on de

etabl1€ posée’

. p .
, - antécédence
v e positive

conaohction
actua]isante

: As can be seen from the preceding diagrams, all verbs "stating, hoping,

« {si vaus e faifes et. que VOUS

ﬂ(sachez queggg vous. comprgnds).

(en position seconda1re SS
2

prev1s1on‘p051t1ve (prevision negat1ve>forté)

Yealite de those

(en posit1on pr1ma1re $1» dans certaines
conditions d'emploi restreintes;

) morpholOgiquement Yous eussiez réhssi)

. .
1 o ¥ e

PR

réhssissez) .

» .

< v
.

N\
o

o ' "

T
»

(1nsuffisance positive je cherche un
homme qui sache faire ce, travail).

o

(afin qgfil le saché).’f'

124

e
. . ° ’ 0 "
A

(a base de previsron pos#t1ve3 non

gratuite: e suppose qu'il viendra)

mode

vous auriéz réussi).

a“

conditionnei

' 5

W '1
"

\\

.D-
. t.
’

. o‘“l" - .
(croyance .négative forte),
R
L P
S s
Ao :
(declération‘ﬂ’attitude
que je fe ]e‘ferais;pas)

(je‘cohnais un homme qui saura fi
ce travail). . .-

il

j ai d1

(parce qu 1] avait f1ni s' en alla).

declaring, believing, and all ‘adjectival expressions‘indicat1ng truth, .cer-..

tainty, gtc.;“ (Hewson 1972: 161) are idées rggaﬁdantes~that determine a
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subSequent indicative idées regardantes that express a negative determine a

' subsequent subJunctive, since negation indicates negative chances of _occur=

A e L3

ringt T
(33) Je ne pense.pastqu'i] vienne! (subjunctive)
..(54) Je pense qu'il viendra. (indicative) N

(35) 11 n'est pas vrai qu'il 1'ait dit. (subjunctive)

L (36) I1 est vrai qu i1 1'a dit. (indicative)

——

Sos (33) and (35) which give the event negative chances of occbrring require

the subaunctive in the subordinate clause. A i

However, one does not need to express a negative for an.event to have

‘negative chance$ of occurring. Notionally, if‘we think an event~has-negative

.chances of -occurring we use the subjunctive to represent the event.

(37) On cherche une secrétaire oui sait le chinois '
(38) On cherche une secrétaire qui sache le chinois,
In (37) one expects to find the secretary while the use of. the subjunctive in

(38) indicates that one does not expect to find the secretggy.,

When the antecedent to the verb in the subordinate clause is a non- person‘"”“

or someone*(sdmething) 1ndefinite French also requires use of the subjunctive.

(39) I1n'ya pas un é1eve qui connaisse M. -LeBrun,

~In (39)‘un éleve does notwexist - he is a non-person. In examples such as the

i following “from Hewson, the subaect is indefinite and so the subjunctive is

required (Hewson 1972 162).
(40) Qui que vous soyez... (Nhoever you are...)
. - . (41) Quoi que tu dises... (Hhatever YOuU Say...) -
| (42) Si fort que tu sois... (However strong you are...)i

Since the antecedent in (40) - (42) is unknown being indefinite, the use of

,

. the subJunctive is required o : . .

<
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'”f According to Guil]aume s list above certain conJunctions (conJonctions ’

*f’i; , A ‘ ) '7‘43\_

£

.oy

virtuaiisantes) such as pour que, sans que de sorte que; jusqu' a ce;g;e etc. s

S

also take ;he subJunctive in the subordinate c]aﬂse Jusqu'a ce que,«however,

only takes the subaunctive when "used with future reference" (Hewson 1972: o
163) s1nce in such a case the ce refehs/to an unknown moment ‘In past’ time -
reference the: ce refers to a known moment of memorial time, and thus the in-

. . /
dicative follows. . AT . R C e

(43) J'attendrai jusqu'B ce qu'il Q%énﬁe (future reference) - S
(44) J'ai: attendu Jusqu 3 ce qu‘il est-venu. (Past reference) :‘:‘\
(45). 11 est sorti sans.que vous e sachiez. - g .d | o ‘ ’
(46) Je parle lentement pour Que vous me compreniez “
In (45) the conJunction~sans que expresses negation and is foilowed by-.
the subgunctive “Il nous met en presence du non- existantxencore d'une ’f R
situation od 1'événement n est pas encore arrive“ (Guillaume 1971a: 241)
Situations which are nt1c1patif require the subjunctive, which is what we .
have in (45) -

_wmAnother example of a conjonction uirtuaiisante is pour que. The .conjunc-.

we judge whether,spmething is good or bad. '"A very real difference between - ;

tion “pour que est anticipatif ..et en conséquence i1 gouverne le subaonctif"

‘(Guiilaume 1971a: 241). This is the type of situation that~exists in (46);

in (46)- the understanding is contingent on the addressee's willingness to ‘
speak slower and such an event requires the subjunctive as its representation. ¢

- * - . . l - + -
.. The ‘next point of discussion, and one which Guillaume-discusses exfen-. .-

sively is that of value judgments (idées critiques). ‘With an idge critique

~ . French and English’ occurs in clauses subjected to a personal va]ue_judgnent.

#

A

French regu1ar]y'uses the subjunctive here,..." (Hewson 1972:yi64). .

“(47) Je regrette qu'il soit veriu. o . I
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In (47) "the idée regardée is piaced in the suﬁjunctive\hecause of.the exist-

’énce‘of an idée regardante critique. By,using'the.subjunctive here.;;speakers

of French bringvthe force of‘the critical evaluation to bear not upon the
occurrence of the event (— indicative) but upon its very nature, upon the

gdea of the event“ (Hewson’ 1972: 165) ' " ; \

-
.

.- (48) Je comprends qu'il agachete un auto t

-

I (49) Je comprends qu'il ait- achete un auto.

event.

In (45) the subject understands the occurrence of- the event; in (49) the sub- -

-,
.

ject understands what 1ies behind the event;:understands thé nature ‘of the'

’ -
Q
R ¢

Sonetimes at is possib]e to-get value judgments- with the use of the

superlative . - o . . ;

-

(50) Ciest Je meil]eur ami qUe nous ayons.

“In (50) we are not stating a fact, but instead we are saying that in our
o . .

. opinion he is the best of all possible friends.

with reference to idees critiques, ”The use of the subJunctive in va]ue

v

Judgments makes possible a much more generalized type of crit1c1sm in

exp11c1t1y criticizing .thé nature of the event rather than the occurrence one

) 1s implicitly criticizing all other possib]e occurrences of such an event by

cr1t1c1zing the’ underIfing notion OE}princ1p1e of the event! (Hewson 1972
“166). - . ‘ L .

s - -

-In French, if one uishes to express “desire or volition one. uses the. sub- «

~ Junctive. " . R

v

(51) Je souhaite qu'il vienne.
(52) > Je veux que vous. le fassiez.

(53) J' ordonne qu'il parte. o . )

Gu11]aume says ‘that ‘the general ided of volition doverns the sdbqunctive
. @‘.

4



'junctive and the reasons for its use as given by Gu#ilaume. Now, we shall

(1971a: 2]7-218), thus explaining the use of the subjunctive in (51) - (53).

. PN -t ’
@ . . - . . /

2.3.3° Ind1cat1ve Mood ’

Up to this point in our d1scussion ofxmééds we have considered the sub-

- consider the third stage in the chronogenes1s of the French verb the stage .
where an event 1s a]located to a time-sphere w1th1n universe time At this REE
stage, notionally the thresho]d between possib]e and probable is felt hy the
speaker, to have been crossed. » Lo t ‘.'( . ;f . o
" In the French indicative there are five (5) ﬁorpholog1ca]-basit tensef » ,
" forms (see diagram page 25).‘Each of these fﬁre morphological forms ‘is usedZHF
“to reresent the occurrence of an'event, as":was, the case”in"(ﬁsf.:ﬂ. o 4t e
When anlevent is seen as hav1ng_positive;chances of. oecurring;'the in- |
dicative is required as 1ts representat1pn Thus verbs expressing upposition,
.probab1lh§gp espoir, etc., are represented notional]y as hav1ng~crossed the .
: threshold and thus as having positive chances of coming -to-be. Thus, in ‘§
(54) Je suppose'qu i1 viendra.
(5§i J" espere qu'il viendra. L _
.X kSE) I1 est probable qu'il viendra: o | = .
i57) I1 est certain qu'il viendra. S -
' ’J o (58) Je crois qu“il viendra. o oL ;‘“:. - E g _'i}
‘ one éxpects him to come. ‘: v !‘ ' " o

~

We saw previously, 1n (39) that when the antecedent of the verb in the
"* / 7
ubordinate clause was-a non-person, the Subjunctive was required as the .

verbal’ representation - But when the antecedent is a real person we use the
1nd1cat1ve. o ’ :« f o . . -

(59) Je connais un homme qui saura faire ce travail - 1 o o

- M N . -
[ .

. . R P . . .
i R } s .
- A . ' ey . .
» T ST e : g
"3 v : - :
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Hhen we simply state facts about the occurrence af the. ‘avent and do not

pass any judgment., the indicative is required -as in (48) .

. 3 ' .
(L According to Guillaume -the verb in a subordinate clause after a. -

e . coﬁ;onction vitrualisante requires the subJunctive while following a -

’ conJonction actualisante‘the use of the‘\ndicative -is requ1red ' Inf: . ":1;
e . (60) Pa#ce qu'il avait fini, “i1vs'en alla. . - ,; .
e In (60) we see that," arce gue est non anticipatif~wle mot pgggg_renvoyant Y

la cause...et en consequence 1a locution parce gue regit~l‘ind1catif" (Guillaume

1971a: ‘241, o T

P}

a .

S

“‘”Thus we see that. if, in the min of the speaker, the threshold between

o possible and probable is crOSSed the speaker Will use the indicative in
discourse if it is not crossed he will use the subgunctive One must keep -
“in mind at aTl times that the important point in determining which mood (sub-

Junctive or indicative) is to’ be used, is whEther -the speaker feels the =

threéhold is cros%gd or not L IR - T e PP

M . }. . . A N . .
-= "7 As was séen fre 4:the~§r37Tbus discussions,‘Freﬁcﬁ“has five basic, tenses

~ =

R o (passe Simple, imperfect present future, conditional) to represent,diVisions \
SR of time in thetindicative Besides these five, French also hds |two tense ;:Ji‘=f~ :
. ::_N | * forms 4n the subaunctive (present aﬁ? imperfect) as well as three forms‘} e

| Q (often called tense fbrms) in the quaSi nominal mood (infinitive present "~

e participle past participle) Besides these ten S1mple forms th "Frenchwmmmeé

verbal system makes use of a system of aspect (whereby an. auxiliary and a -
. “°~’-.. *hx
B verbal are. combined) to express further tem oral lelSlOﬂS.
. o o
In French for every simple form of the verb there is at least one:

v
(¥

<
"~ .

correSponding compound form..
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. ' | :4 .‘ ' §i@215 | 11. TransFendent: ' Bi—drenseendent' .
Infinitive - . parler | aroir'per1é-~. avpid\euparIé S ;5;
""Present Part1ciple parlant ) ayent par1é ayant Eg\parlé'm j. . ;i'-.g
'Past Part1c}p]e ) o par]é y f”4 (eu par1d) .. * = ‘\\\\\\ : .
:SubJunct1ve I . parle . afe p;rlé~ aie eu par]é' T\\\\\\;\\‘;;\\*
‘ Subjunctive I _%ﬁwu- pariesse. . eusse parlé'_‘ K A ". S
Present' \\flj\\dmﬁ;\‘ parje e raj parle' B ai eu par]e _ .
'Imperfect- o parlats; ;‘7T73?5Ts“par}é;-;-avais_eu_panle~;~”’”"—/fff’?”
o Passé-Simple . -parlai. -eus parlé - Lot . -
Future ° ; o parlerai aprad parié p . aurat“eu parlé #
\\\\\qudltlgnal ' ’ .parlerdds‘:‘ \<ﬁrais'par]6 3 3§drais eu parlé
\| ) <
e From the-preceding diagram we see"&ﬁat there are three aspects in French -
\

e simpie {immanent), transcendent,:and;Pi:transcendénts - Each #f these three

g_) Immanent Aspect ™ . © 51— Al T . -'

\ . ' ‘e

y A]l the verbal forms of the immanent aspect are expressed by a single -
° word "In all the simp]e forms of the verb only the time 1nter1or to the . "_ s
’ .2event represented is’'in questlon... In~such a form as. par]ait where, the
s u verb 15 predicated of a subJect,‘the subJect is represented as,engaged in the
"'actlvity of a past event ne 1lﬁgar1e he is represented as engaged in a pres-
{‘ :ent event; and in Earlera he is represented as enbaged in a future event" .

¢ [

(Hewson 1972: 113). So, in the simp]e forms of the subJunctlve and 1nd1cat1ve

'0 moods,'ﬁthe subJect is represented as be1ng interaor to the event, ..

(Hewson 1972 T}3) * , | - -q. i o . " ) ' T ﬂ—‘::::;--
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(b) Transcendent Aspect

.The forms of. the transcendent aspect“consist of anﬁwux1l1ary plus a- past
part191p1e of the ma1n verb ”Hith ‘the: compound forms’ the subJect is repre—
sented as occupy1ng a.new space posterior to the cOmplet10n of the orig1na1 7f‘
evént Th1s ‘new space is defined by the event tlme of the"aux111any, while

» the event tlme of the ariginal event is represented by the past part1cip1e"

(Hewson 1972: 114y, oot T

td

v 11 par]e _:' ;{_

S L ‘parlé - ' 1'a .- .
\ o ,\ . . s 'xi‘ ----- ---—_>|

- In il a par] , the sdbj‘?t_ls remoééd from the event represented by par]e

Thus we get an exterior v1ew of thg event represented by parle
o Lo K Z‘*

PN

- B

N - . R
- .

(c) B1-Transcendent Aspect

As was, seen in the preV}ous paragraph the trangzendent -aspect. (compound

forms) presents the subJect as one_ stage -removed from the act1on of the past

’

part1cip]e, in the bi- transcendent aspegt the subaect is removed a further ///"

stage avo1r eu marche est la subsequence de avo1r marche" (Gu11]aume 1971a

177) aT'he follow1ng two diagramS‘wiTl help clarify the three aspects

g

(Gu111aume o marcher->+-av01r marche \J;avoir eu marché ey
T97'|a ]85) : ] T .\‘/I ] =
. - F R il parle ’
] - ' A‘ P x """""" % - (A)
SN .' . . g ®
(Hewson,1972 ) % parie ]]vi_____--; > (B)
-”5) o l’\ ‘\ A = "
-1, parlé eu = il,a N )
, lﬁ : I‘é ‘( — >‘ (c)
1\ . v o
‘(..\-' 1 - " .. <o : -
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In the bi-transcehdent.aspect, "What was the auxiliary -in thescompound .-

forms is itself sransformed into a past particip]e,uand’% new auleiEry.ere-.

ated-that opens up a’ further space of event time that is posterior both to

-the event time of the original auriliary and to the event time of the original

past part1c1p]e" (Hewson 1972 115). So, in the diagram from Hewson above,
v ~§ 4

(B) represents an. event wh1ch occurs before (A) and (C) an event which

occurs before (B). .

L4

2.4.1 .Tense Agreement

"In a very high percéntabe of debendeht c15uses:of time in French the -
-« verb of the subord1nate clause is found to be in the same tense as the main
| clause" (Hewson 1972:.116). ° - ' . : Do
(61) Je sors quand il fait beau. |
- {62) Je sortirai Qu;hd ii.fgrg beau.
—\\Fhe same-agreement of tenses is a]éo’found in the compound fprms.
(63) Je suis sorti quaqg i1 a fait fait beau.

(64) Je serais sort1 quand i1 aurait fait beau

X

) In examples (61) - (64) the d1fferent verbs represent actions that"Er%\:bughly
contemporaneous. » :4;
However, in certain cases it is necessary to‘show one action as occurr1ng

beforejthe other as in the following (Mans1on 1963 214).

(65) Ii sort quand ila d1n€

“(66) 1 sorta1t quand il avait diné.

.. (67) 11 tait sorti quand i1 avait eu din€.

_Following is a diagram that would represent (67):

|!<A So’r‘tji ll< il X_§1;_ﬂ_i§__;‘@y ] (A)

Q
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In this_diagrah (A} is represented as'occurring'before (8).

2. 4 2 Verbs requiring etre as auxiliary

As with English, ﬁtre is the aux111ary used to g1ve a representat1on of
.an 1hter1or view of the consequence of an event, wh11e avoir is the auxi11ary
used to give an exterior view. With §t£g_the subJect 1s.1ocated within the
limits of the event, while the subject'ts represented as outside the event

with avoir as the auxiliary.
_— . R A
N

'(68)' I1 a battu.” (Subject is represented as outside the 11m1ts
\ of the:event, and therefore free.)

\\
¥ .
{69) I1 est battu. (Subject represented as 1ocated w1th1n the
X limits of the event, and therefore bound.) -

\

When considering cases in wh1ch avoir and ftre are auxi11ar1es, the con-

cepts agent (doer of the act1on) and patient (rece1ver of the action) are

very 1mportant “The agent is free to do the act1on but.;he patient is

~—o

bound by-it.. Etre 'is intransitive and is therefore most natural]y pred1cated

of the notional patlent _Such is the case in AT

-

(70) Elle s'est blessé. . (se = elle) f.
SR (71) Elle est blessé. o |
" In (70) and (71), where @tﬁg is the:auxiliary, the subject,is,notionel1y the
patient, being represented as bound by the event. S | . .

Avoir on the other hand, is. triP51t1ve and any subJect of whlch itois

)
pred1cated must necessar11y be seen a$ a notional agent

(72) Il a battu Pnul. . . . .

n
H

In (72) the  subject is the agent: causing the action on’ the patient (Paul). ' /(’(/—\
Since, if the subject is the notional agent,,avoir is the required auxiliary,
which is the case in (72). . . kK

" Besides -the passive voice, as in (71), and the middle voice as-in (70), . - °
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French has a list of s1xteen (16) common verbs wh1ch require @tre as the
aux111ary in creat1ng compound forms. ' o ({f ' N
aller : fvenir Jd -
» ‘ sort'lr. entrer, ) ,
- t.4 , . , oy - .
B ‘ partir - arriver - ' , o
. { - N . S
mourir . naitre
5 ~ retourner-  revenir - .. . . ‘ //
2 monter descendre Lo e
e A i \. - _/’dl'” .
} o
rentrer '
ol
devenir - * ' _ e B ) N——" V w
. 7 ! o ' <L s
"+ tomber . S, fen
) E . L o ' : :
e rester -
These verbs are verbs of resultant state and they behave like verbs of the
«  .middle voice. "All these.verbs represent actions wh1ch ‘when completed;, re-

sult in a state of affairs where the subject is no 1onger free" (Hewson 1972
127) Thus, when the actions represented by these verbs are comp]eted the
subject must remain 1nvo]ved in ‘the resu]ts of the events Such is the’ case
. fbtﬁe/v:rbs of middie voice as can: be seen in- (70). Once the subject of (70)
has wounded herself-she must remain involved in . the resu]ts of her action.

We shall look. at éxamples from the sixteen verbS’above to examine the .-
situat1on of the subject after the action of the verb has taken p]ace |

(73) Elle est morte h1er mat1n - ‘

- A
(74) Elles sont nees le sept janvier. - 1 \\ ‘

N (75) Je suis allé 3 Montréh] |
In (73) - (75) when the action 1is completed the subject is not -in a posit1on

r

.- to continue the:same action and is bound by the consequences of the event

_ For example, in (73) when the subject has digg she is no longer free to



h_continue dying, being bound by the consequence of,dying}

It is important to point out that these verbs require'etre as the auxil-»>3

'1ary only if they do not or cannot have an object.” When such a verb takes T
.an object we have the active voice and thus an exterior view' of the consé-
quences of the action of the event. '

c_ (76) Je suis. monté. , : . .-:

(77) J ai monté mes bagages. b CL .

[T

-In (76) the SUbJECt is st111~Jnvolved in the consequences of the event while L

in (77) the subJect is free of the consequences of the event thCh are sub—

sumed by mes bagages. The reason for (717) haV1ng avo1r as the aux111ary 15'

s

because~1t 1s clear that the subject 1s ah gen since mes bagage s must

necessar11y be the. gatient from page 51 we see - that if the subJect 1s an °

’[1’ 9
agent then the verbal aux111ary ‘must be avoir. Guillaume says that "..‘le

*
'

mécanisme de transitivité ne sort pas,‘en fransais de la vo%x'activer/._
(GuiTlaume 197]55 194). However, if the subject cahnot free_himself from the
-consequences of the event he rea]]y is a pat1ent as in (76) and thus the e

' pass1ve type constructlon is required in the transcendent aspect

. LR . .
<© i h
. . .

Y

¥

) -

Y



¢

CHAPTER THREE 9. |

INTERFERENCE OF THE ENGLISH VERBAL SYSTEM. ON
LEARNING FRENCH TENSE SYSTEM % f

N

)

3.1 Introduct1on C ) - _ L

) Up to this po1nt we have considered the structures of both the Eng]ish

and French verbal systems within the areas of tense, mood, and aspect ‘At
]
this point we shall discus$ the d1fferent factors in -the Eng]1sh verba1 system

‘ which make It difficult to learn and understand the system of tense in French

“Having previously looked at’ the two verbal systems we see that there are. "

-

k]

bas1c d1fferences between them and these ‘differences &re the sourcé of -

‘1nterference in 1anguaqe-1earn1ng. P _‘ , . N

i . System :" ;, ‘.’:. i . - .o a » ‘r:‘ L

"y

Ve shal] now cons1der whaL,we mean by the term interference., Inter-

W

: ference occurs when factors be]ong1ng to the native-speaker’s lanéuage (but

-

.wh1ch do not. be]ong to the target 1anguage) are carried over and app11ed

-1ncorrect1y-when using the target 1anquage Since the Eng]ish and French

'

. ’ verba] systems are structura11y very d1fferent in many ways , there certainly

w111 be considerable 1nterference from Eng]ish in 1earn1ng the French verbal

.
- - ‘
v [
r * "4 f -

F1na]1y, a word is necessary abeut the students whose paperSJwere

: £,
( stud1ed The students se]ected for th1s study'have al1-had at least three

years of studying French in schooT before attend1ng university and have had -

jat least one semester (some have had three semesters) studying French .at the

univers1ty level * Yet these students cont:nue to use, 1ncorrect1y, struc-

v LI

tures of the Eng]ish verba1 system in the?r French essays (the essays_having

been written under e§am1n§t1on cdndltions)

As was stated prev1ous]y. French has’ ten (10) morphologically distinct -

-
6' -
» . : . ‘" )

tense forms - f1Ve (5} 1n,the 1ndicat1ve, ,z;(Z) in the subjuncttve and -
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.th~ree. (3)L‘1'n ,thg- qﬁas1-nom1nal mood.: o | .
: ‘ . '1nf1n}11':1/e" .o W o ,

. present
participle

LA i : . , T . past

\- . . " participle

o

present subjunttive °

.. < past subjunctive . '
- '_ ‘mas;é simple, oC futqre' \
present
P 1merfect : \l/ Q.

e
”~

,coridi tional
\ /7

, Enéﬂsh, on the other hand, has only seven (7) distinct 'morphb'lbgica'l tense

forms. ' _ ) I .

s S h o | infinitive | -

'<pre'sent pprticiple

| \ B . _past pai‘tidble SRR A S -
o ’ = o~ | _ - . ' ' ! T
* . » . \/r

-

. present subjunctive_ '.
' . =

_'_Qast subjunctive

N
154
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From the preceding representations of the respective chronogeneses we can

see certain places where tense interference is likely to occur.

- ' -

3.2 Differences between the French and English Quasi-nominal‘
First of all, we shall consider the quasi-nominal mood in’each language.

. There is a morphdlogical difference between the infinitives in French.and -

. English in French the infinitive is marked whereas in English it is un-

Y - (1) J'ai entendu chanter les enfants. - ' . T

" present participle, and past participle,-"usage of the infinitives and

marked But. there seems to be a more fundamental difference between English
and French which causes the interference at the level of the quasi-nominal

'mood. Although at this level in each language we have the infinitive.

participles- sometimes differ widely between-the two languages " (Hewson 1972
101). The following examples from Hewson illustrate the differences (Hewson

1972: 101). R ;

(2) I_heard'the children sing. l' , . ’ | N
J ‘(3)j l.heard'the children singing. :’_ B ’Q;'
(4) d'ai entendu chanter la'ehanson. "N . g’.-
o (5) 1 heard the song sung ‘”§ . :", o _.:"-
)//ﬂ(ﬁ) Chanter, c est un plaisir R‘é C "" - ~
- (7) Singing 1s a pleasure. S . ‘
(8) To sing is a pleasure. }V’- l 5 A,g*:
(9) c' est un plaisir de chanter,’ L o ) -

’
) \ L ete
]
' .
. ' PN

Uy
Examples (l) - (lO) illustrate clearly that thé infinitives;and,participles

(lO) It is a pleasure to sing

in thectup languages can certainly have very different usages., ’5# .

“In English “the infinitive and participles represenf\the materiality of



. before a noun. ' N -

,the,inﬁnitive_ls 'represente'd‘as being totally in incidence and neprfesents

- _1t-1s more commonly used as an adjectlve than as a noun" (Hewson 1972: 100-

“to note that one such past participle, when used as a no(m represents the

56

~

—

theeverrt»\{lnce they represent the®event as ‘a content, thetr normal predi-.
cation is in the mode of an adjectival relationship:" (Hewson 1972 73% One

;'should polnt out, however, that an infinitive cannot be placed 1nlned1ately

"~ (11) The bottle was seer to break,

(12) *We saw the break bottle.

"Two syntactic facts are f1lustrated here: (l). +a pure infinitive (i.e.

wi thout to) may only be 1nmediately predlcated of a direct obaect and (2)

‘only in the predicate and not in the ep1thet relatlon" (Hewson l972 74)

In the quasi-nominal mood in French, the following situation exists.

an event as an.abstraction. “"Since everits, by the‘lr nature, 'nonnally requ1~re"«‘

" to be represented as abstractlons it 1s natur‘al that the 1nf1nftlve, the

L

' representatlon of 1nc1dence, should be the mosét common representation of the

event as a noun" (Hewson l972" 99). The present participle represents an .

\ent as- partially complete and partlally to be completed while the past

~participle represents an event as, completed (totally in decadence) Since

"% each part1 ciple. contains “an element of decadenQe within 1ts representation,

101). If the present partlclple is used as a noun it hypostatlcally rep—

"resents the person’ carry1ng out the event, not the process of the event .

1tself un passant If the past particlple is used as a noun 1t very often ‘

s used hypostatically to "represent the person or thlng bound by-. ‘the result

of the event un ftance les morts In Justlfylng the content of the past

o particlple as a representatlon of" decadence, however, 1t 1s of great 1nterest - .

'—-\

slmple mater1al1ty of the event: l gssé"(Hewson 1972; 100) .
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' 3.2 1 Interference in the Quasi-nominal L f - - .
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b4 4

The toilowing examples illustrate a fundamental difference, between

‘English and French which exists at the level of the quasi-nominal mood.

(13) Un passant 'a demande l'heure.'

1 I h 1t1 n-th 1 -
(14) 1 see the writing on e\ma 1.

v

. (15 %iriting 1s a difficult.task. =

- In (13) - (15) .one can see that the following re]ationship exists the

‘ 'nominaiized present participle in French can on]y represent the agent, whiie'
tin English the nominalized present participie represents either the gatient
{(the written) or the'carrying out. of the event. This fUndamentai difference

. hrobab1y'stems from the facﬁpthqt the under]ytng view of time in the quasi-

nomina1 mood in English is ‘that of decadence - see the diagram in section.

;3 T Also, the three elements of the quasi nominal mood appear to be

rebresented as movements 1n English but as positions in French, Such funda-~

" mental differences as those just mentioned prqbabiy account for differences

which exist at the 1eve1 of the quasi-nominal mood.

~

,Q - Having seen that some very 1mportant differences exist between the

v

‘quasi-nominal mood - in English and French, we shall now consider some mistakes

- made -by students, in discoupse, and see how the d1fferences in the content

system account for them.-

(16) * Je n'atmais pas écrivant les: exams au Thompson
' Center parce qu ‘11 Etait trop grand. b

(17) *a &tats” trés surprise voir cette annorice parce que - -
7
- je suis intéressée en faisant un voyage... . - -

(18) *Nous passerions un jour entier regardant les ; - '
robes. .. T e

' (Note that=there are other erraors besides errars in the. verbs 1n'some of the P

sentences and these have not- been corrected ) In (]6) - (18) English

’
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students used'the present'part1c1p1e (which represents the mater1%lity of an.

event 1n English) where French requ1res use of an infinitive (which represents
the eVent as a noun) Before leaving the d1scussion of errors represented in
(16) - (18) we shall point out that th1s type of error is probably ‘the most
common of all and occurs just as. frequently after three semesters as at the

very beginning of ‘university studies.

-

Angther type of error which English students sometimes ﬁake'(at the -

lTevel of the quasi- -nominal nnod) occurs with the representation of the future..

It is qu1te permissible to use sentepces’ such as the following 1n English:

(19) Next weekend we will go f1sh1ng.

(20) We will 90 Fishing in the lake. - S L

‘ In (19) and (20) English uses the present participle wh1ch represents the
. imateriality of an event; French. on the other hand, requires use of the\hd
. infinitive in sehtehces such as those above'since 1t'1s the 1nf1n1\§§:-that;'
is used in French to represent the dependent event 'Since French reguires J
the infinitive where English somet1mes requires the present part1c1p1e we -

get ‘sentences such as the follow1ng from Eng]ish studentS' ‘ '““"~'¥~—-——_~eee~&

(21) *Pendant le weekend 11s vont dansant...

~ (22)- *Nous 1rons nageant dans un lac... ; e "‘\~

'The type of error 111ustrated by (21) and (22) is not very frequent. but

nevertheless does occur among first year universtty students.

It shauld be pointed out that there are 1nﬂ}ances where the use of = v

aller + present participle is qu1te acceptable in French. The type of -con-

—— v

e el

“_-__...-______

'struction just mentioned 1s ‘utilized in French “pour marquer 1' aspect duratif;— _
a continuite, la.progression de 1'action” (Grevisse_1964. 584).

(23) Le mal va crofssant. - ' ' -
‘ i ™ R PR
ke (24) L avers1on allait s augmentant chez notre jeune e —
. abbesse. . ) Tl T
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-Note," however; that the use of the construction in (23) and (24) 1s quite
_ different from the 1ncorrect use in (21). and (22)

.—v\\ .. . ‘
3.3 Differences in the Eng‘Hsh and French “Indicative 4 z o “
§
. At the level of the indi cative where, as we have: already seen, French
\

has five basic tense forms whﬂe English has only two, we ‘see many 1nstances

of the English verbal system interfering with one's _understanding and use of

o

. the system of tense in French. o
B " \ . / N . K x , ’ » *
incidence passe-simple lpresent , - future (French - &
" S 4 ' oo oeem —>> {ndi cative)
decadence = imperfect <o ‘ condi tional :
- , ' . ¢
incidence past f\ _non-past (EngHsh
X s = — > 1nd1cat1ve)
_ . wWlec
" From-the two diaprams of the representations of the indicative 1n*both French

T — e

and EngHsh 1t ma(y be ‘observed that there i room for 1nterference from
Eng]ish when one is attempting to grasp the French verbal system. -In order ) )
foffng’lish to express the same time as 1s expressed by the French tense ..
T — --system EngHsh mus t make use of its system of a _§p_e_gwhereby an auxﬂiary and‘:.

L . a verba]"“combined make up the whole verb.

‘“'“--**-(25) Je parle depuis c'lnq minutes . (use of tense)
Sl L ' g (26) I have been speak'lng for ﬁve minutes (use of aspect)

_ (27) Demain':j 'irai 3 MontrEal. (use of tense)

\1\“3'5\' (28) Tomorrow Iwil o to Montreal. (use of aspect) -
- T ‘Since there are only two tenses in the Eng‘H sh ind{ cative Engli sh must use
x..e_ . 1ts aspect system towexpress temporal distinctions wh1ch are expressed 1n |
" French by the tense system. . ‘ - RIS B -
e s _ Ascan readﬂy be . sean- from 'the above diagrams.,” one very’ )
_ ~ ‘: . - ) . = —..—__4”‘__"'_ : -
e p < .
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g b c ’ essentiai di fference between the Eng'lish rand French tense representations 1is

| ' . that the tense system of the’ indicative in Eng]ish provides a representation
only at the Tevel of incidence whi‘le the French tense system is represented' )
as viewing events. both from the paint of view of incidence and of decadence
Since .the Engiish tense systeni does not provide a view of an event “from the P
- level of, deca&ence, the system of aspect must be. emp'loyed for this purpose; "

thus it is qui te probab'le that interference wi'l] occur under such conditions

' 3 4 Differences in the Representation of the Present L : o

As was the case when discussing .the" tense system of each ianguage, the
presen t will be discussed first When discussing the Engiish verbai system
it was observed that’ English does not have a present tense morphology; rather

-

‘there 1s a threshoid separating past and non- past To represent the real

o - ‘ experientia] present English normaiiy has to uti’]ize ts aspectua] system. _

(29) I am. washingrthe dishes.

In (29) the verb: represents an. action that is taking p]ace in the reai

)

' experientiai present - here and now

In grench however, the present tense does have a disti nct morphoiogy,

-

and as win be seen from the foliov;ing diagram the representation is a -

mt

_ verticai one,
SO T incidence

oC S D

presen® incidence -

-", . ; . L . X P
Lo .. 7 s . . decadence - J/ w \1/ decadence .

.- ~/

In the above diagram the oc and  moments are represented as composing the»J '
p resent in the French verba] system, w1th the oc moment in incidence con-: o

tinua]]y becoming the w moment in the ‘Tevel of decadence, this is a funda-

e e e ——— Wt ———

3

. , : 9
S .. -mental element of the indicative in French.

o N . . . . \ M-
. - .
- “ . . ’
- g ’, . *
)
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\ ‘In the verba] system of English, however, -the w moment 1s represented

; ;
;
] ' . ' oY
H : o . 61

7 a a i

1 - - -

z . ’

‘as be1pg the last moment of the past and the oC. moment the first moment of .

the non-past., - ‘ "‘\\—\ f’" ) ‘ R o

. 1 R
] D v \

non-pas t .,\ \. .

t

oc

-

e representations of the oC and o Toments cannot be otherw1se.

/
1

-

j3.'4.1 fayence 'on Learning the French Present

Having mentioned the Tep :

N .

we shall now consdder the factors causing 1nterference when an Ang

attempts to learn the French tense system.

i
N

PO (30)— *Vous aimeriez auss1 une promena e dans la ne1ge
B s Iw qu1 est tombant. : A

(31) Lo cfe] est bleu avec un. peu de/ nuage.;.. “fes -
oiseaux sont chantant. |

Ty

. LS .
BT L, T e

- .,' 1 (32) *...1e solefl est brille, tout le jouf. -
The type of error 1nd1cated in (30) - (32) stems from interference from the
English progress1ve. Since the progress1ve is often a comb1nat1on of two:

" words' 1n English (be + 1ng) students carry the Same structure over 1nto '

e —
[

9

&

Since the English verbal: system has a tense system wh1ch is so'lely horizontal

fon of present t1me‘1n both ianguages-,“

"

. French, where it is 1ncorrect1y applied This type- of error is espec1a]ly_ -

prevalent ‘among students do1ng on]y the1r first or. second courses at univer-

- si ty, while at the end of the third semester students make /such errors much -

.’ . r ‘. H
- |

' less frequent]y. T L :; : S
I

.!‘

mus‘t use the progress1ve which 1s “used to represent the 1nter1or of the

il

In order to represent the real experiential present, EngHsh frequently‘

r .wde

event...." (Hewson 1972: 85) In (30) - (32) errors occur in’ the verb where L

an EngHsh structure (progress‘lve) 1s 'Incorrect]y applied to French The

S students do not seem to reaHze that on]y the simple form can represent the
' -7 \' + AT - =
s - . o .



'word, students used the particip]e the part of the verbal phrase carrying

the content, for the verb

_of interferehce. g

'1nterference above .- \'

I.v

1nter10r view .of an ?yent 1n French wh11e in, Eng]ish it can, be done with the

progress1ve . S T . b .;w/’ )

. Another‘mistake which did occur‘was'the use of the present participle

‘for the verb, Agatn the roots of . the prob]em stem from Eng]ish structures.

Having 1earned that ‘the present tense 1n(Fnench is represented by a sing]e '

v

’
” D -

(33) *g! ecr1vant une reponse 3 une annonce- que j al vu.

This type of mistake is rather rare, but st111 1t does 111ustrate an e1ement

I

While still dea]ing w1th the presen we should note .that in French the

~

oc Mmoment may express an event about to occur in, the future while the ‘w

) moment may .express a past event whtch is sti]l cont1nu1ng in the w moment..

X (34) *Je venais de f1n1r mes examens et Je pense des
.0 . vacances de. Noel que Je vais passer 3 notre ma1son
et la campagne.

Sy

! ‘ ' - « & . ¢
“In (34__yg\aggjn.see"the 1ncidence/decadence dichotomy at work . To express

the experientialCQ lnoment English must use_ the past_ tense or the present

perfec From previous diagrams we saw that the ca moment in Engl1sh is » -

represented as be1ng the ° ‘very last moment o;\the past. (st111 be1ng 1n the

rea1m of the past), while 1n French 1tJ}s represented as part of the presenﬁg

- we a1so notice that the ¢ moment of French is represented at the level of

-

‘decadence and 1n order for Eng1ish to provide a representation of decadence

N

1t must use 1ts aspect system - hence the present perfect The occurrence

of the past perspective:in Eng]1sh in such c1rcumstances is the gause of .

2’

The type of error 111ustrated in (34) did- not occur” very frequentﬁy at

the university 1eve1 As for sentences 111ustrat1ng errors of the ol moment‘

o
-

o

¢
a - . . o . 62
. .
o - . .

et
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T

.the possibility of such errors are certain]y-lesseneu. '

© 63

re, the papers studied did not contain any. Since the o

moment {s the ver first moment of. the non-past wh1ch can include the future,

. . :), s ¢ ,‘.e
3 5 Differences 1n Representations of Past T1me

,

Having seen how English 1nterferes w1th one*s learning of the present.
tense in French, we shall now tirn our attention to the other tense forms of
the Frénch 1nd1cat19e From the diagrams of the. chronogenesis of the verbal
systems at tie” beg1nn1ng of this chapter, wé note that none of the tenses in
English corresponds exactly to any of the French tenses. Engl1sh has* on1y£%ne

"4

past tense, which normally represents a completed event and this event is

,..,-

_- represented as viewed only, from the 1eve1 of incidence. ' .
N T
Al
’ I, talked
4
S —
past . W L non-past ’ N

In French however, there are two basic past tense morpho]ogles (in

<

*
11terary usage ‘at least) - passe simp]e and imperfect and nei ther one cor-
, Yo

A\t

8

aresponds exactly to the representation of the past ténse in English. ’
] ' o S : :

Y X .(x;_u\;‘ 7 ‘
‘ co - passé simple- l :
r - . N
: . . imperfect \L W

. The passé simple 1is a.tense which is not used today in ‘everyday "spoken

usage .as many of {ts uses have been taken over by other form55 “This tenSe

“'represents in the system the 1nc1dence of a past event...the representation

is therefore~of a comp]ete, integra], undivided event. (Exterior unit view)"

‘ Z-\‘)(Hewson 1972: 142) -In the’ passe,simpﬂe which remains total[‘_?n“the leue}

of‘incidence; "the subject is necessarily ‘trapped' in the initial moment,

O . : ', . -

PR
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~

and the event, as a dynamism, is.pureiy prospective; -

’.;:, * /\I
\.'.o, a R '. i.“_' : /I

It 1s not surprising, therefore, that the sense of the passé simpie is often-

inceptive,.. o (ﬁgwson 1972: 142- 143) ’

(35)*T1 fut bien triste quand 1 recut ma 1ettre

]

In (35) the sense of the passe simpie is 1nceptive s;nce it 1s the receiving ;
of the 1etter which initiated the feeling of sadness which then implicitiy .

T

(not expiicitly) continues. - 2 —

iy

H

Both the passe Simpie and the past tense in Engiish represent ]
y incidence “of-a past event Both of them‘also have an overtone of t:Z per-
Q//r . - fective - they view an event as having a beginning, midd1e and end Byt,
b - - it is not always true to’ say that the- past tense of Engiish is "often incep-

tive" aithough it certainiy can be SO. >~ K /) o

u-.

It is interesting to note that sihce the system of tense in the English'
verbal system does not have a .tense to represent the decadence of an event,
in a sentence such as the feiiowing '
. . : (36) He was sad when he received my letter.
we-do not know 1f the receiving of the letter initiated the sadness or, 1f he
was already 'sad when he received the letter; this can oniy‘be determined from
_the context. - Lo . ' '

Con51dering what has been said about, the’ passe simple up to this point, ..
one wou]d expect there to be very 1itt1e interference of the English past \ )
tense on learning the usage of the passe simple. But since not a single

"instance of the passé simple occdrred;in the essays ef French examinattons

- ; ~ the evidence for such interference is lacking. What is said below concerning

the passe composé' however, may frequently be considered reievant to the

s o
- . ) .

2 . M . - N
-~ . . - . [
: ' - .
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passéﬁs1mp1e as well,

. 3.5.1 Interference onhgearn1ng the Imperfect SR

12

-

The mgerfect is. a very frequent]y used tense 1n French. "This ¢tense
'represents dn the system the decadence of a past event...the representat1on 1s
therefore of an event,that is materta]ly in prqgress” (Hewson 1972. 142).
. T Qeing in decadence the subject may. be 1ma91ned as Jjn a,nos1t1on fac1n§ the
" part of the event wh1ch’1s afready_completed. In order for~Engl1sh tdvprovide
‘a representation at th1s'1eve1:1t has te make use of its system of.aspect‘and B
from there we get interference from English. k, \" ' ' ’

As the name tmp11es, ‘the imperfect tense 1s used to represent actions

)Eh!ch are imperfect - not comp]eted Since the past tense in: Eng]ish has an’
‘ overtone of the perfect1ve, English mus t make use of something else to ex-
_press the 1mperfect1ve. To express the 1mperfect1ve Engl1sh norma]ly ut111zes;
the\progress1ye (gg_p]us present participle).
| _(37) She was go1n§ to buy a new dfess._-. . . g _r;
’“Q h'ﬁ We shatl now consdder‘the uses of the.imperfect tense in French and,some ~
. of the errors comm1tted by students. (where they used English structureS'tn-
stead of the 1mperfect, which was the required tense in French). There is -
| one usage of the 1mperfect where students made very few mistakes - descr1gt1on.
(38) Ce n'était pas vite.. - c

(39) I faisaft froid... ~ -~ - - .

But, even~uith'describtion there was some confusion with_the passé composé,

s o | .
= My o U S . <
o (40) *Quand j'ai_eté été un petit enfant... - \\ S Q. .
(A1) ket quelquefois ils sont &tées mauvais. oo

- - Not1ce that errors involving the use of forms other than ‘the 1mperfect

.. -
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J_ of 1nterference in the following:

6'6‘

fbr descript1on in (40) arid (41), involved étre “Now, €tre 1s the

representation in French of to be be Verbs such as’ to be, to know, etc., are

classified - as stative: verbs, which may .be defined as materially complete but

tempora]]y 1ncomp1ete In English, a mater1ally comp]ete event is represented )
by the preterit So, consider1ng that the stative verbs are materially
comp1ete, English speaking students may tend, n;rmally, to represent them by
the preterit and therefore the passé composé i(/;rench
(42) *Aussj, pendant la semaine: de examens de’ Noé].
J étais trds heureux parce que j ‘ai_su que je
): " - pourrais aller chez mof bientBt. . .
hhen deeling with the English' verbel system the main consideration seems
to be for the material, whereas in French.the main consideration is for the

temporal. In French only temporally complete events may be represented by

the passé composé; temporally (or materially)-incomplete events requfrfngato

'beorepresented by the 1mperfect. Sinte the stative-verbs-are‘tempora]ly in-
" complete, French requires that they be represented by the impérfect. . This

fact plus the fact that mater1a11y complete verbs are represented byfthe _
preterit in English, account for errors' in (40;- (42). -

'For 1nc6mp1eted actions. in the past French also requires use oﬁ\the,- Y
1mperfect tense, while Eng]ish normally uses the progressive. R f

(43) He was _speaking when I entered

(44) He was going into ‘the basement when the bomb: exploded

Here we see that the compound nature of the English 1mperfect 1s the source

. (45) *Ge-n eta1t pas. v1te comme un av1on mais 11
: etait faut parce'que...

" (46) *Nous €tions aller acheter. des chd%es pour mes
- .t freres et mes soeurs “quand...”

o

. - ) ”
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(57)*...11 éta1t commencent 3 ne1ger mais..

Although errors of the type illustrated in (45) - (47) were not extreme]y

common, there were severa] ins tances of this type wh1ch do. show . 1nterference.,_‘

French a]so makes use/of the imperfect tense to represent the continua-

tion of ‘a habit,

(48) I1 travaillait tous les jours.
. He used to work (worked) every day.

. A common m1stake involving this- usage of the 1mperfect is to use the passé

~ compose where the correct verba] form 1s the imperfect. When\the passe
'}compose is u5ed instead of the 1mperfect in (48) what is meant‘ds not the

!
’cont1nuat1on of a habit but rather separate events ‘each day.

(49) I1 a trava1]1e ‘tous.les jours.
We see the type of m1stake in (49) i1lustrated in the following:

. (50) *Quand J eta1s pet1t je n'avais pas besoin d' argent
Je suis alé-a d 1'école. .. .

(51}-*Le temps fa1sa1t beau les aprES-m1d1 mais j'af

. étudie our mes’ examens: Les nuits, j'ai regardé .
™7 "Ta t&lévision et ensuite j'af §tudi€ pour cing -
heures ., ’

Again. in (50) and (51) the. events expressed-are stat1ve and are therefore

. n'mater1a11y comp]ete, wh1ch means that they norma]ly require the preterit 1n
: English. Now, English preterits are normally represented by the passe
--compose 1n .French, and thu$ we have 1nterference.

The 1mperfect 1s "also used for past reporting of act1ons or1g1na11y K

" expressed in the present.

3

(52) Elle’a ‘répondu qu'il &tait malade,
: She answered that he was s1ck '

b

In (52) we have a retrospect1ve v1ew of an event 'Nhen En§11sh“uses its

tense system rather than 1ts aspect system to represent past event;. there

- . . e -
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1s a possibﬂity that 1nterference from English will be 'lessened %e
' fo'l]owing pattern often occurs when report'lng past events An’ EngHsh events
which were represented by the non-past tense in the present are normal]y

reported by using the simp]e past tense, while events which. were represented

- ,by the progressive are norma]l_y reported by utﬂizmg the progress1ve form

(sometimes events represented by the simp1e non- past are\reported by the

progressive) .
In reporting (as was just previously mentloned) there is room for

‘interference from EngHsh smce the EngHsh pretemt 1s ordinarﬂy repre- o

" sented in .French by the passe compose and the English progress1ve is composed

. of more than one word. However,_since- none of the students had errors ‘1n

this use of -the imperfect, we cannot report on any interference,
. [ . . "
. . . 1 ’

3.5.2 Depuis, etc. >

With certain conJunctions su h as depuis, etc. » the imperfect 'is used ' <
- for events begun at a remoter pey od and still cont'l nuing. '

(53) Nous sommes ici depuis un am. :
i, S We have have been here| for a year. . >

(54) Nous étions ici depuis un an.
.~ We had been here for a year.

Instead of using the present and '1mperfect for (53) and (54) respectively,

-,p.

many students had the following:
' " (55) *Nous avons éte 1ce depuis un an. '(Instead of 53)
-r’ ? (56) *Nous avwns ete 1ce depuis un an. (Instead of 54)

As we can see, students very often use the present perfect for (53) and the °

' p]us-que-parfmt for (54) since these are the- forms used in EngHsI{f Thus,

-1t seems as if the EngHsh aspect system 1s an 1mportant factor dn causing o

1nterference. , . .- ~

¢, .
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. B . Lo - . . B ~ .. .
. . . s s . -
. - < . . . .
&; . ' . . Y .
. "
_— X . X . . AN
Co . > y e
. , ’ . ~
. H R
. . .
.
. .
. .



UnderTying these different types of errors is the fact“that the French
tense system 1§ represented 1n both 1nc1dence and decadence whiTe the

'Engl1sh tense system can only represent an event in 1neddence

X
»

an event in decadence it must normally use 1ts system of spec which‘1s‘-

composed of at least two elements. The belowing diagram 111ustrates how

. French .and Engl1sh represent an event from a perspective v1ewpo1nt

-

- _ . _ ‘i N ‘
.+ o.ibeen ' had__ 5 .
: SR past] perfect - - ..., '
) L e
Z étdit __________ .
e j; ,‘7 accomp11 accompT?ssemen

"+ Also, the Engl1sh past tehse represents a completed event 1n the past

3 . N 7
- - '

I spoke*

non-past - il

-

L] B past N i * ‘
whiIe the 1mperfect (which is the on]y French past tense we .shall cons1der :

here since the passe simp1e never occurred) represents an 1ncomp1ete event

The foITowing diagrams show at 1east three d1fferent repﬂ@sentations of the

|
1mperfect. ’

poo e ,
) . —
N X"%Q\L o
\.\ . 0" . s
3 \ ‘ R ‘
- : ' o< : -~
" i o~ o CI.;\L' et -
‘/ . - j . ) ~W

3 6 Future Time

Now’, websh§l1 discuss the tenses which are used to represen future..

To represent ,

.*\
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. timerin‘thé French verba].system:.future.and %onditional.

70

o future >. :-._

R v
------ - \
. =

’

.The French future tense represents the prospective realization of an event, .

1

' and represents the 1nc1dence of the event. : B L o

" ‘I* - -je'pér]erai 3 ~\J_
i o, , ~‘ /,

twnile-the conditiona1‘represents the potent1a1 rea]iiation of an event by.

representing the decadence of that event since the decadence of a future
{

event is notion§]1y null, a11 that remains 1n the representation is the '; l

/ -

accomplissement virtuel, .

o W ae_eerlsreis _________ .o
’ . .. e . RS &

' -

It 1s 1nterest1ng to note at this point ‘that nei ther.of these tenses exists in 1'

Eng]ish However, the English tense system does have a_ non- past tense which is .

prosgective, and since it. 1nc1udes in.its representation all time which 1s .
not 1n the realm of the past can include future time in its representatlon.

Besjdes us1ng the on-pas tense to represent.the future English also = =

uti]izes its aspect system to represent the time covered by the French future

- e
. . [

(57) J'y serai quand vous arriverez.
I wiTl be: there when you arri .

*In (57) where the’ French verba] system requ1res the useiof the future tense ..
(serai) Eng]ish uses 1ts ‘aspect system (will be be) wﬁQ1e for the French
future tense fonn arriverez Eng]ish uses its non- past tense form arrive and

does not require 1dent1ty of~verb form ‘be tween subordinate clauﬂe and main’

.“

"\
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3.6.1 Interférence on Learning the French Future Tense .

Ab0ve we saw that while the French verb has a distinct morpho]ogy for -

the future tense. Engiish does . not To represent the tine covered by ‘the

>

French future tense, the English verbai 'system requires the use either of its -

_hon-pas't tense or of fts system of aspect' Following are ‘examples iiiustrat—

fng use by Angiophones of the English non- past tense to represent time

'COVered by .the French future tense. : o LT

- (58) - *Quand nous arrivohs au-Caroline_ du Sud. la premiere
chose que tu verras... . .

>

" (59) *Quand ies vacances arrivent, le temps sera parfait.

- pour nos vacances favoris. .

Both the Engldsh non- past and the French future represent the™ incidence

. "of an event in the realm of the future But, they.do not represent the same

fspace of-time The French' future tense represents time that has tio

experiential existence, but has only a prospective reéiiiétion. However. the :
Engiish non-past does express time within the experience of the subJect but
can often e extended to provide-a representation of future time. Certainiy
one of the/cases where the non-past does refer to future time is in a sub-
ordinate clause in which the verb in the'principei clause has future refer-

ence. .

S In ‘many cases English uses'its aspect system to exoress“future time,

LIt 1s the role of the auxiiiary (wiii or shall) to occupy a stretch of the

‘non past as Yarge or as: sma11 as may be usefu], so that the event (expressed

by the infinitive) must be situated just beyond this stretch The future {is

formed by_placing the event outside the portion of the non- past occupied by .
the auxi]iary" (Hirtie 1963: 112) |
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. past”] ndn-past ' - .
Although French may ut111ze a]]er + infinitive to represent future time, 1t.
can also use its fyture tense to express future time. .
' Again we may trace the prob]em back_t to tﬁ/’representations of ,the.
"present. The French verbal system has a present tense and any expression. of
time by means'of the tenses beyond the present is futd:e. 'En911sh, however, -

has ho present tense; it has only two .tenses - past and non-past - and any

tense form. which does not express past time expresses time which 'is in'the

"realm of ‘the non-past. : \\\\:

-

3.6.2 Interference oh’Learning the French 'Conditional Tense

The other tense form in French expressing future time, but from the -
,'1eve] of decadence, is the conditional. -Whenever the future is to be ex- ‘

pressed in the matrix of past time, it will be transformed into the condi--

tional.

. ’ __ff;;__' future N L
d[ conditional T

.
"t

-
N

. Since, in French inc1dence is constantly becoming decadence future t1me \\J/~

‘ expressed in the matrix of. the past becomes“the conditional.

~

T 460) Je serai pr@t dans deux ou trois minutes.

(61) I1 m'a dit qu'il serait pr@t dans deux ou trois
minutes.

rSince English, w1th1n the rea]m of 1ts tense system, dges not have, in ﬁhe

-

strictest sense, ‘a morpho1ogy used solely for expressing future time, 1t

does not have one f6t the\cond1t1ona1 A]so. the Eng]ish tense system does
1+ not have any means of representing an event in decadence -to express the-

decadence of an event the aspect system is required.. when the aspect system

\Qﬂr"‘ Al

£
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is put into use we see that wheép the future s to be expressed in the matrix

of the past the copditional is required.- The modal aux111ary shaT? “or will

1s the one used to eXpress the. future should or wou]d (the past of shall and

will respective]y) {s the. moda] auxiliary uSed for expressing the conditional.:

Fo]]owing are student errors 111ustrat1ng 1ncorrect use of a verb form

where French requires the use of the cond1t1ona1 tense.

' o . ((62) ...vous pourriez venir chez m01 pour lgs_vacances
d : de Noel. Le jour de No&l nous jrions: a 1'éqlise
’ le matin et...nous prenons 1e diner. v

1.4

n (63) *Si nous a]]ons 3 Parfs nous visiterons 1es thédtres .
" - ce]ébres. Aussi“nous. irions au cinéma et visitons

l. ~des batiments qui... A ,
. ‘ : ~

. T0 represent the time expressed by'the Frencﬁ conditional "tense, English

K must utilize the moda1 auxiliaries wou]d or should (now archaic) plus an

'1nf1n1t1ve. But, 1n compound sentences the Eng]ish verba] system does not
' a]nays”requ1re that the modal be repeated in the second pant of the sentence.
as is illustrated in (62) and (63) If the moda] is not repeated'there ts:no
immediate 1nd1cator that the cond1t1ona1 15"to be’ used in French w1th the . -
'\modal removed a]l that remains is the infinitive, which 1s 1dent1ca1 to the :

indicative, and so the student uses the “present tense" (wh1ch is rea]]y -
; - hon- past) where . the condi tignal 1swrequ1red ) f‘ o P 'j | :
A . The fo]lowing sentences 111ustrate another type .of ertor committed hy
R Anglophodes where French requires use of the cond1t1ona1 {g;
b ' LT
- (64) *Aussi dans 1le lac 11 y a beaucoup de po1ssons et . B
nous pouvions pecher si tu 1‘aimerais. . .
Also, in the Take there are many.fish and we cou]d .
i go fishing if you would 1ike to. .S
T --(65) *Nous pouvions nager souvent et,nous jouerions au
' : . tennis tous les jours. S
. -  We could swim often and play tennis every day. (In this .-
o L : sentence the student was telling of what they expected ..
el _ . to do during the com1ng ho11days\ not what happened in «
- » * the past.) - . T .
_j-‘#“_ ~ - L R
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“In English could may represent e1ther the past of ¢an or the cond1t1ona1 of

"Eourrai (conditfonal)

may be ambiguous.

7

can, thus 1t may . be represented in French by gouvais (1mperfect) or by

where the conditiona] was required. . ' N

L~
>

"-'3 7 Tense Agreement

So, the use of could (past or conditional of can)

In (64) and (65) Ang]ophones used the 1mperfect of Eouvoir

For sentences which -have- two d1fferent verbs representing actions that

L4
3

o

D

.are rough]y contemporaneous 1n subordinate clauses of time Frqnch requ1res

that tge two verbs ~agree in tenses, whereas Eng]ish does not m
v

nt’(fxamples from Man510n 1963 213) -

<, PO
-

3"
K

i

. .(68) I1 sortait quand 11 faisait beau. : .

(66) I1 sortira quand 11 fera beau.
“He will go out when it 15 fine. -

"(67) I sort quand 1) fait beau.

He goes out when 1t 1s fine. s

He would go out when 1t was fine.
(69) I1.sortit quand i1 fit beau. . -°

— s . v,

- He- went out when it wa: was fine.

(70)—11 est sorti quand il a fait beau

He went out when 1t was ?1ne

(71) 11 Ltalt sorti’ quand 11 avait fait beau.

He had gone out when 1t was ?1ne

(72) n sdrtirait’ﬁuand i1 ferait beau.

He would go out when.it was fine.

(73) Il sera sorti’ dhand 11 aura fait beau’
He will Eave gone out when 1t was fine.

' )
(74) ‘1. serait sortifquand i1 aurait fait beau.
" He would‘have gone out when 1t was fine.

T me———
.

{ke this agree-

Examples (66) -'(74) 11]ust\ate the strict para]]elism Whlch horma11y exists

, in.the French tenses when the actions expressed by‘both_verbs are'rough1y4~

_ contemporaneous .: -

. N, . a
l' v .

-

v



carry overtones of the perfective; they express a Egter1a11y comp1etefeVent Ly

Since English does not require the same tense agreements as French, ;

£YTrors occur 1n this respect w1th great frequency ; o '»'4 n »f,_ -f:," -
£ .- (76) fQuand j a1 vingt ans, J‘1ra1 en France. 3 ;;;;/’ i,?,;,ji/i

(76) *Quand tu arrives, nous irons au musee:.., / ;fzéifi

(77) *Il y aura des c1nemas 3 qui nous gouvons al]er... o
S1nce Eng]ish does not require the same strict para11e1ism of tenses as _;;;’
French we see that the Eng]ish structures 1nterfere with the correct/usaoe ®
.of the French tense system. P 2"‘ o - ”; B Ty ';. | .7?}

e N . ' ' N

" There are seVeral factors in the English verba1 system which 1nterfere .

’

with one's learning of the French tense system,,and they a]] stem from the .

!

fact that the content systems underlying the verba] systems in both languages

"are very different English has only two tenses 1n-the 1nd1cat1ve and they

s

,,,,,

(wh1ch on]y 1nc1dence can do) French has f1ve tenses in the 1nd1cat1ve. ,77 : e

-0

present participle. past participie) bat- the/n tions expressed by these’are

often very different 1n each 1anguage c u/;ng 1nterference. T ‘_, ti'. Do
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| CHAPTER FOUR SR
wol N , 3 o A
. INTERFERENCE OF THE ENGLISH MODAL AUXILIARIES ~ . . - '
v - ' ) ‘ - oL
4.1 : Introduction : .

-

- '_ in 1nterfer1ng with the learning, -by Ang]ophones of the French tense system. )
, However since Fnench rea]ly does not have any moda] aux111ar1es 1t is. |
. s - hecessary to cons1der the Eng]1sh modals in some deta11, and to determ@ne ‘* }
. | the1r role as a factor caus1ng ohterference 1n the 1earn1ng of the system of |
;;; tense in French | ‘ o “ ' AR

«p
-

"The modal aux1l1ar1es...are d1st1ngu1shed by the act that they hav}

:
LN

-

. - : . Lt ;‘ * , e, : AN Pl . -
Mention has already been made of the mhda] auxiliaries will, shal],.and >

T- can (and their past forms. wou]d, shou]d and cou]d); and the role,they play

'no -s in the th1rd person s1ng]uar (shar1ng th1s mor. o]ogy w1th the subJunc--

‘o oa 1

on-gast J ,{_g,
. ;l

o .‘;f "i .- éhalléx o
T ‘ﬁzli~~ .

may
. “; must
b (ougﬁt)
‘:: (dare)?

¢ . . , o~

might

:_wfvn' ) t1ve) and have no in 1n1t1ve or part1c1ple forms
{_ ]ng “are’ a 11st of the EngTISh moda] aux1l1ar1es.~"'

Past-. . ‘ o«

s‘r

o

awould R

ushould .

‘could

(Hewsonn1922: 89). Follow-

t . (need) " . : » -
o, . : K .. o ¢ R " . ° ’ .
RRPR := /The modal auxiliaries, like the grammat1ca1 aux1l1ar1es” have undergone
L e .
; 1 | La- cons1derab1e amount of- 1ex1ca] demateria]1zatxon, but. to a lesser degree
N S . : oo
: o -
; oot than the grammatnca] aux111ar1es. gf a resu]t only the f1na1 two (dare and”
. : w . . Sy ’
. o . ¢
Vo . need) wh1ch are’ border11ne cases, are to be found as fullfverbs. "The
RN - . R CooN ) . . v
{ RN v ] ﬂa' o LS @ ~’y... ": . o ‘e , " : .
o x| s . N A . < - _ . )
‘l H - - ’ N 3 . . ' v - v L
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_ization of the Event (run) itself ‘Simi1ar1y tn"

_ chronogenes1s .3 the’ aux111ar1esu1nd1cate a w1thdrawa1 from the actual into

_Lthe v1rtual on the ho(1zontal ax1L of the ‘same” (Hvrt]e 1963 127}

w1
v
4

s .o . “
o . B .

gﬁmited morphological range of the modals, in fact, indidates their grammat-
1ca1 subJugat1on" (Hewson 1972: 93). The modals have suffered such an amount ”

- [

of ]exlcal demater1a11zat1on that not1ona11y, they would seem to under11e
a]l'the other verbé except, the grammat1ca1'aux111ar1es Hewson (1972 95)
speculates that the not;%nal relat1on§h1p to fu]] verbs may .be somewhat as
follows: - : S o - PR K )

F- T . ¥ M : .
; , do . -
>

oo ‘ wml . shall _ .. cap .. _ -may -

s )

f . “
L, . . . - . . -
< f

In Engl1sh the "modal aux]l1ar1es are felt to have not1ona1 pre- ex1stence

L

they convey notions (11ke capac1ty, perm1ssion ob11gat1on) that ,are necessar-

"11y seen to ex1st priar:tg* the existénce of the .event. declared by the full :

verb (the 1nf1n1t1ve)" (H1rt]e 1963 126-]27)
S1nce the moda1s convey not1ons such as capac1ty, etc. ,'"the event as

expressed by the 1nf1nit1ve is’ granted only v1rtual ex1stence in t1me. Thus

H

. -
L

the sentence Co \" - ;‘;' . S ‘-xq : o

-
‘

declares the existence of the runner's‘capacity wihtout'evoking"the actual- -
P 4
He could run a m11e 1n our m1nutes when he was younger. - -

‘ the event is seen as, d potentaa]i y in the past.. Bh1s exp]a1ns the=part1cu1ar

aptness w1th which these aux1]1arLes replace the subgunct1ve mood the latter
&

' 1nd1cates the refusal to approach the actual on the vert1cal ax1s of the

] A

- .

~
-

S1nce the moda1 aux111ar1es do not evoke the actual1zatton of an\event

He Gan run'a mile-in, four’ m1nutes A - VoL
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it becomes clear why theré is such restr1cted us&>of the moda]s in the past -

nly will, shall, can, and may even’ have past ;prms Since events in the

past normally have to-be actual1zed, the use o] the‘modal auxiljaries‘in the

N

past must certainly be restrigted.

' "The past forms‘(coqu, might, etc.) have assumed a further rple. Their

temporal'anteriority to the non-past forms (can, may, etc.) has been carried

¥ o . ‘s ‘ s
". over to their notional content in many contexts.- Just as can, etc., aré con- .

sidered notiona]]y anterlor to the full verb, so could, etc., are cons1dered

not1ona11y anter1or to the cond1t1on expressed by the non-past forms.< Not

_ only is the event drawn into the realm of v1rtua11ty, but the cond1t1on of

———,

7.

the event also. * This the past forms of these aux111ar1es can express a -
greater degree of v1rtua11ty than the non-past forms. For example, in

He could run amile in four m1nutes, if he tra1ned
cou]d deé1ares not the" exxstence of the runner s capacity, but the poss1b11-»

ity pf its existence" (Hirtle 1963: 128).- S - L
“ . - . . 7 .

4.2 : Mechanism Underlyimg the Use of the Mddals

ind

/- Hgviqsthieflytdiscussed;the modal auxiliaries of-English, hexshou;d now
turg our attention to a dis!!!sion of the mechanism underlying’their, use. .
The modal aux11iar1es are used with a followlng_lnian1t1ve since it 1s the
1nf1n1t1ve that carrles the content of the verb, and the modals having under;‘

!

gon 'a cons1derab]e amount of 1ex1ca] demater1a11zat1on. When the ‘modals

.C b1ne with an 1nf1n1t1ve to exprass not1ons such as capac1ty, perm1ssion,
tc (cons1der1ng the non- past forms') the modal aux1l1ary S function is to ‘
occupy a stretch of. the non past so that- the event, wh1ch is expressed by

the 1nf1n1tive must be 51tuatedvbeyond the stretch

(1) I w111 work during the day.,. o . . E



‘e

& non past, the. 1nf1n1t1ve 1y1ng 1n 1ts subsequende must fa]] i

(2). You may go when you feel ]ike it. R

(3) Onpe must be carefu] when r1d1ngﬁ1n a- ‘cance. ‘ @/¢V/
In these examp]es the aux111ary occupies a space of the non-past w1tﬁ7the
‘'event, wh1ch is separated from‘the subJect and. th d1rect1y pred1cated of the. .
subJect. s1tuated just beyondothe stretch of t1me decupied by the moda]
D1agrammat1ca11y, (2) may be represented as fo]]ows ‘

- B " . ‘ . . R . —g--—.
LT - 4 mayJ< s S
o past 1 fion-past ‘ 7o e

To avoid any confusion it must be -stated that the ro]e of the modal aUX111ar-'_

1es as represented 1n the above diagram: is the ro]e of all the Eng1lsh modals

which aré non-past - L0

ooy

There are . four past forms of the modals - wou]d shou]d cou]d and m 19h

- and their role, s s1m1T‘F“to“fﬁ“t‘tﬂ*11ﬁ§‘ﬁ6n=past—fo
s1tuated in the rea]m of the pagt. The past forms of the mo

°

xcept*for bewng—————h——»

1s can occupy . .

any stretch of the past “Now: 1f the auxiliary 1s at the thres old of the .
the non pastf‘\ _
But the past morpheme declares the absence of the aux111ary s mater1al con- -

tent from the nongpast: so that the v1rtua1 event (1nf1n1t1ve) 1s evoked ina
t1me -sphere from which its condition is dec]ared absent The, effect 1'7V1 -

. course is. toddéclare the condition of the event expressed by - thecaux111 yl‘ 4
does not exist as-a rea11ty but on]y as a potential1ty This mechanism of

\’ N Q—_p
thought thus permlts cou]d m1ght etc., to assume a role*of not1ona] ante-

r1or1ty, so that they can express a gréater degree of v1rtua11ty than the1r
non- past counterparts" (Hirtle 1963* 128- 129) For e«ample the moda] in
~ (4). He would come given the' chance -q f ':. - ) , .
) AR

is, capab]eiof carry1ng a-greater charge of hypothe§1s than the moda] in -

(5) " He NJ]] come, given the chance SRR -
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L, "~ _The use of the modal in.(4) illustrates the past form of a modal used to '

expressithe‘cpndjtional. 'Diégrémmaticelly, it may-be repregented as follows:
) 4 . . Q - . " L™ )

e ]

’ . o N .- ‘ . A

. . ) . . * - “\ v
j e past o  non-past 7

The use ofnthe moda]_plus infjnitiVe to represent the conditfooal uill here-

.after be.referred to as the extended:usege of, the pa&t'forﬁs‘of the'moqels.
?Now.we sha]l‘turn our attention briefly to the unextended use of the -

@ past forms of the' modaTs “that is, the use, w1th genu1ne past referencg

” :; S1nce ‘the past.form of the modal may be s1tuated anywhere in the past, the .

structure modal + ‘infinitive (the content) can certainly have‘reference to-

the'past as_ in

—ffre;—ww——;uee;____" (6) When he was- work1ng he- wou]d go’ to the movies “twice ‘a week.

D1agramnat1ca11y, (6) may be represented as follows:

T =90 P '
IWOUId\I N : v
e =

pasf’ “’kc non-past - -. K

S1nce both the moda] and ﬁhe 1nf1n1t1ve are situated in the rea]m of’ the past

the1r reference must be " genu1ne1y past.

- . ‘\' ‘ ' .,‘ ‘..-.
4 3 Will-and Sha]] with Euﬁ’re Reference o IR ‘ :

- A . Hav?hg dea]t w1th///; Eng]1sh moda] auxil1ar1es 1n genera] we will npw

,turn our attent1on to will and sha]l in the-sense of their referr1ng to the

future~(they have other uses which are beyong the scope of this paper). The

3

. . .
‘1

;most usua] way’ for Anglophones to form the future is to use WI1] or shall

. 51‘.2 .. plus dn infinitive. The use of«e1ther of the modal aux111ar1es is- to occupy )

.a-stretch of the non-past with the actJon of the "event being situated just ~ -~

,outside this stretch,'v
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past ,.::>l? non<past ‘ ' > 5

ThlS d1agram wh1ch”represents (5), ‘shows the aux:l1ary (w1ll) as prov1d1ng '

n

a place for the condit1ons of the event (come)

. . . -

4 4 Would and Should Expre551ng Cond1t10nal . L

The past forms of will and shall (would and could) which can carry a

greater charge of hypothes1s than w1ll and shall "on the ‘level of - expreSSIOn

are the'equ1valents of the cond1t1onal - (H1rtle 1963.‘130) in French. It

is noteworthy, in French, pu1llaume says,,that.théwconditlonal tense carries

a greater charge,of hypothesis thai.the future.- ", .~ .7 ,
x(,v' \" ‘.'c ' “y K ) L

e,

4.5 uili ,_Shall, Would, and Should

' He shall now turn our attention to the -use nf the modal aux1l]ar1es in

‘d1scourse part1cularly to the use of those express12§ the future and the

~

: cond1tlonal In sentences whlch have compound verbs the modal aUX1l1ary IS
not always repeated in- both parts of the verb ‘

P 7)1 w1l go and get the groceries. | ' _ - ¢ - o

'

o (8): dld go and come ‘as he pleased I

'Now, in Engl1sQ3the\1n£1n1t1ve arnd 1nd1cat1ve forms of a_verb are 1dentlce],

U

"and .in (7) and fg) above many English speak1ng students would not real1ze

that the second element -of the compound verb 1s an- 1nf1n1t1ve form and hot an
3 L

1nd1cat1ve . = o >

'
!’A e

Many Anglophones seenm to real1ze that would or should plus an 1nf1n 1ve

). 1

glves the cond1tfonal, it is often called the cond1t1onal tense or cond1t1on- .

al mood S - T T

¢9)' He' sa]d he would come 1f the weather was f1ne




L)

’1nstead of the correct form, ,

plus the fact that the 1nf1n1t1ve and indicative forms are 1dent1ca1 a]so

A . . .. /
However, it seems as 1f many speakers of Eng]1sh do not realize-that wou]d !

- (or shou]d) p]us an- 1nf1n1t1ve is often used to represent repggted actlons

in the past, as is the case in (6). Since students normally. assoc1ate '

would + 1nf1nit1ve with the extended usage (cond1t1ona1) and since the

4

infinitive and 1nd1cat1ve forms - ?re\1dent1cal in Engltsh, students represented

(8) in Fﬁg%ch as . ‘ 5\\ c co -
| (10) *Ll jrait et v1ent ’ T e . e

(11) 1 a11a1t at vena1t S

,'wh1ch correct]y trans]ates the ‘unaxtended (w1th past reference) usage " We

‘sgpuld note at this p01nt that French does not have the extended/unextended

contrast, and so amb1gu1ty of reference is: avo1ded y . f; 4

The fact that the modal 1s not used 1n the seco d part of the‘verb

leads to errors when students attempt to represent the future in Freﬁcht
i ot B e

. ':; (12) " He will 30 to Montreal and return on the same\day

I1dra @ Montréa] et reviendra le méne- -Jour,
Instead of us1ng “the future tense in the gjdond part” (reV1endra) of (12), -

students will very oftep use the' present tense (rev1ent) » The two po1nts

. 1nd1cated at the begihning of thds paragraph may a]so account for errors when

]

]

students try to use the conditional tense in French .

(13)- He said:he would-to to Montreal and return on the same day
1 o IT a dlt qu. ﬂ] 1ra1t a Montréal et reviendrait’ le meme,gour

“t (

Instead of us1ng the cond1t1ona1 Jtense i the second part of the verq_

e

(rev1endra1t) the. present tense w1{1 oft n be ut1]12ed Since there 1s a

.

b

e

)
Ay
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"\ 4.6 Can, May, Must etc. . o ' N S '

4:6.1. Can - ST .. _— \ 1

f
\ i . : Q

" e will-now turn our attention to the. other modal auxiliaries c7é,‘max,

must, etc. ' .The role of these modals, like the ones representing the futare

1

and cond1t1ona1, is- to occupy a stretch of the non- past (or the past for past

forms w1th past reference) w1th the event occurr1ng JUSt beyond this stretch

./ of t1me Let us’ consider ‘the fo]]oW1ng sentence:

’ (14) I can dr1ve from St. John's to Port Aux Basques in a day. B

- - ke

D1agrammat1ca]]y we wou]d have the fo]]ow1ng representat1on

-
b ")

The moda] aux111ary can is represented in French by pouvo1r r“Pouvmr,

be1ng one of the verbes de_pu1ssance whith not1on§11y under11e all other verbs

1n French (€tre, vouTo1r savoir devoir are the other verbes de pu1ssahce)

in.many ways has . a similar funct1on to the modal can. For example, in ”“"

\

(15) I-can go to’ Montreal tomorrow. ]'?vu:
©Je peux aller a Montréal demain.,

o the role of both .can and peux is to occupy a space of time_so that the evenp

t - T +

cah 1mmed1ate]y follow ]t.-.: RN '
U e N et
can N ,passé simple | peux_ future _° - ;
pastﬂ ' ﬁ)n—past 7 Timperfect J/é : cond1t1ona1/ B

. From the d1agram we can see that ‘the- moda] in Eng]1sh and the verbe de

,.'
[

) pu1ssan in French serve to separate the etént from the SUbJECt S0 that the

'y AR

4
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1 N ’ ¢ ”

) , : S
»l . ’

. ) ‘ . -
¢ have more than one representat1on in French: The auxiliary could may have

e1ther extended usage and be represented in French by pourra1t (for the th1rd
A

. person s1ngu1ar), as in

.
A
L\ 1

e "
14

(16) He says that we could swim in the 1ake dur1ng the
. summer holidays.
) . I1 dit que nous pourr1ons nager "dans ‘Te lac pendant
{ o les’ vacances d'été. . . )

°

or 1t coild have unextended usage, with genuine past reference Many nat1ve
Eng]ish speakers often overlook the extended use of the- moda], as. ind1cateda

a » A ~ o

by (16), and think of cou]d only 1n terms of 1ts unextended use, as .is -

" 1nd1cated by the follow1ng sentence

v

(17) “*Nous pouv1ons nager souvent et nous Jouervons au tennis
- tous les jours. (The context of this sentence 1nd1cates

e * that the reference 1s to-some future-eyent:). 5 |

// Examp]e (17) shows how Anglophones use could w1th future reference and to do‘

oL

- S0 use m1staken1y the 1mperfect of pouvo1 Before 1eav1ng (]7) however, I '

e,
'wou]d 11ke to 1nd1cate that an English- speaker 1s not accustomed to making ;

k]

h this cho1ce\of tense s1nce~cou1d is the same 1n Eng]1 ‘no matter what the
[ . . , . ’ . 4 .
reference' ‘ L

L] +

4« .
3

Could 1s also. correctly represented in French by the 1mperfect of pouvo1r

when the reference is to an event which took p]ace in the past. ,4‘ T
r . .

(18) Last year he could swim every day. “(could = was ab]e) ",“”.~

. L'année derniére ‘i1 pouvait nager tous les jours,

- .
o

" no evidence of interference - occurred 1n any of the papers that were stud1ed

a]though one m1ght well’ expect students to use’ the cond1t1ona1 in (18)

4.6.2 My ~; o = o .
! ‘ B ’ T
The Eng]1sh modal aux1]1ary _Jx, 11ke Can expresses potent1a11ty L1ke

can, 1t a]so has ‘a past form ( 1gh ), and is represented in French by the

. N - ' N . . f . : .
° - ‘. . * i 1\‘

S1nce the Englvsh and French representat1ons are s1m1]ar 1n\ ructure for (/8),,
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'verbe de pu1ssance pourvo1r The uses of may and might are also very similar

L \
to those of can and could and what has been said- rbout the latter tuo can\be

app11ed to may “and mlght L - P

. W~J\ o .
. . P, . ’ /
4.6.3 Must S . S

f‘.

| -,

Very br1eﬁ1y we shall mention the moda] must -and its representation in M

4

French (devoir or‘fallo1r). There 1s no. ev1dence, from the papers studied,

“of ‘modal interference From must. 'Often when must -is used in the sense “of "

1

is necessary".students utilize the impersonal verb (11 faut que ). A]so,

in many cases whére'must‘is uti]ized, students“useé a structure very s1m11ar

i

" to the one emp]oyed in English (devoirv + 1nf1n1t1ve)

(19) n faut que j'aille a 3 l'eco]e pour pprendre a lire
o

x~i (20) "9 dois s alier 3 l'ecole. N z

_ I must go. to; schoo] o -
» |

: Fo]]ow1ng are d1agrams wh1ch represent both the French and Eng11sh represen-

tations of (20): ”’ v

future L~
7

JO
] must‘\ ..« .\ passé simple
“past”’| nof-past . 7 . ' imperfect

< conditional

: ' , oo . . ! o
These diagrams indicate :h}t the funttion of -must an dois is to. occupy a
stretch of time, with th1s stretch separat1ng the eve t from the subJect
" Before ]eav1ng the aux111ary myst, I wou]d ]1ke o 1nd1cate that 1ts

representat1én in French (present of devo1r) is a verbe.de pu1ssance Th15"

means that, jn\French devo1r 1s .one of the verbs\wh1Lh is felt not1ona11y

to under11e'other verbs 1n French 'p' B o

\

- 4.6.4 Oughtl | L SRR

» N

'ﬁs was preV1ous]y 1nd1cated (sect1on g, 1) ugh 1s a- border]ine case as’

.!_

ClaE- N 71

9



"a:modal. There are certain peculiarities about.the use of ought: (&) it

o

requires the use of to before an infinitive, -

(21) You ought to be home

W

Ve
~

(b) it has no past’ form, oo o o

(22) He ought to have gone home -~
r L

7
4

Notice that (22) has past reference, not by us1ng the past form of ought, but

by using a transcendent 1nf1n1t1ve (c) There are certain d1a1ecta] pecu11—_'

! =

ar1t1es w1th the use of ught as “in .
(23) He d1dn t ought to go.. v e

The Eng]ish moda] ought is represented in French. by parts of devoir and

fa]]olr AN , T

(24) One o ugh never to be unkind.
s - I1 ne faut Jama1s 8tre malveillant.
Onflea dois jamais tre ma]ve11]ant .
(25) You o ught to-go and see’ the Exhibition.
- Vous devriez a]]er voir 1'Exposit on. K

In (24), which expresses obllgat1on the present tense of'falloir or devotr

L is used as the representat1on, in French ‘of-ought; in- (25), which expresses
des1rab111ty,,the cond1t1ona] form\of devo1r serves as the representation of.

ought. Again, I must point ouf that no evidence of Jnterference-turned up-
 probabl y'because of the similarity in structure to the English.

‘e

4.6. 5 Dare and Need — A

>

The other two moda]s 1n English wh1ch are borderl1ne cases 'will not be

d1scu§sed in. th1s sect1on since they are represente

verb forms and 1n most cases 1nterference when it/ does occur w111 be due

Q

to some other factor,than moda]1ty " Perhaps the
2 b i
wou]d be because of Tack’ of necess1ty of express ng the moda] in both parts

nly error 1ikely to occur

7o
7 - 4

of a compound_verb in English, - Students may soyet1mes use the 1nd1cat1ve

1n French by the regu]ar- ’
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1nstead of the 1nf1mt1 ve in the second par't of the verb since they are -
1dent1ca1 in Enghsh Th1s type of error has- been mentioned prekus'ly )pnd
appears to-be comon wi th a'Il the modal aux1har1es when' they are not used .
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- INTERFERENCE oF THE ENGLISH VERBAL SYSTEM ON LEARNING
THE FRENCH SYSTEM OF MOODS RE“ . i

¢ . b

2 P

5.1 Introductioh //,‘\\\\" S R 1 "_ B S

o .
In the first two chapters of this paper we have shown that in both French e

and English verbal systems there are three different moods - quasi nominal,b

subJunctive and 1nd1cat1ve At the. level of the quasi- nominal the represen—
tation is the least developed the event not being allocated to a time-sphere
and not predicated directly of a subJect the representation in the subjunc-.
tive mood is more developed being predicated directly of a subJect but stigl
not allocated to.a time<sphere in universe time; the indicative represents ) |

a
the completion of the chronogene51s of the verb with the event being predicated

A3

) :of a subject and being allocated toa specific time sphere in universe time

Although the same three moods exist in the two languages, the mechanism
of each mood 1s rather different for the }pnguages with which we are con-
cerned. Not only 1s the mechanism of mood differen\\ior English and French

but. also the uses of the mechanisms are also differen Since such differ-

ences exist we can expect English speaking students learning French to commit

errors regarding- mood The remainder of this section of the paper wilt be

devoted to an-examination of the differences thch exist between the mechan-

. isms of the moods.in English. and French and also of the differences <in the

'use of .these mechanisms, and show1ng how differences result in 1nterference;.

. L]
S .. *t
\ e .

a

5.2_ ‘The English SubJunctive L N

Differences between English and French at the level of the- quasi nominal

“mood have bgen discussed 1n Chapter Three, so we shall commence our discussion

1n this chapter by consrdering the subgunctive mood in each language First: -
. b .

i



o S T ' (he) work . e o - :“

. with the 1nd1cat1ve, in"which an -event is a]]ocated to a “detefmined stretch

of universe (or rea]) t1me._ o e

of all; we sha11 discuss’ the subJunct1ve 1n Eng11sh Fo]10wing is a'diaﬁram.‘_-'

.
I

[ ; "
represent1ng the Englwsh subJunct1ve (H1rt]e 1967 18): ‘Q . B

r

4 7

< .

ey - >

. . .
. .

€ ]

As can be ‘seen from the d1agram an event in the subJunct1ve mood s repre-‘

sented as occurring in t1ﬁe but not atlocated to a t1me sphere. In the present

subJunct1ve the movement of un1verse time “is...seen to be ascending toward

T .'.

the future" (H1rt1e }967 18) and the event is also seen as unroll1ng toward

the future, but not belng aT]ocated to any t1me sphere, “no representation of

——e
e —en . -

the event as real is: poss1b1e“ (Hirtle ]967 18). )

<
’

In the past subJunct1ve un1verse time 1s seen as decadent as. unrolllng

I

tdwards the past but event t1me 1s represented as unro]l1ng in the d1rection :

[

of the future. ?ga1n ”I w1§h to re1terate ~that the event 1s notﬂrepresented "

I8 ~ ~

'

as real since it is not a?locatednto a t1me~sphere and'therﬁgy contrasts e

¥
b Al
? °
-
. Y
) . ‘. —
’,

So,,when speak1ng of an event 1n the subJunc€$ve mood we speak not of

v

a real event but of d potent1a] event, '"In the Eng]1sh verba?-system such .

an’evegjsqs”cégsequently not represented as be1ng related. in any;uay to.our ., R

T own persona] emp1r1ca] exper1ence of time, angd rema1ns a potent1a1 theoret1ca12

y

una]located event" (Hewson 1972 70) i {5_',ph. e Lo
! . ‘£ oLt T g ' : -
. .ﬂ- . "“. . '. e, v - \% L . ‘
~5:2.1 Present Subjunctive .. ‘ k} e
ﬂ‘. - M '" t{ ] ' '

The Engl1sh verLal s&stem does not have a morpho]ogy wh1ch is d1st1nct1ve

) - e Fd - o .

\..._--..
o
-
-
~
K
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' Consequently we “have Justification for plaCing it/unitnithe aspect of

. . ’ r “ F “ . .
- . . . .
NN ‘ } Do } . , 90
. " . ,

' \‘ :' . N } ' . .
. . 3 - ' "

\

, only for representing ths subJunctive The subJunctive forms are identical

to the infinitive and indicative forms except for two cases: (1) the verb
] ” .
to be "and (2) the third person Singular where the indicative form ends in

-s, but the subJunctive is unmarked. Hewson illustrates these differences in

‘ the £01lowing examples (1972: 71)+

(1) I move that the meeting be adJourned- v Ve

(2) I insist that he withdraw the'comment

[}

-'(3) If he Withdraws the comment (indicative)

: Hirtle (1963) also pOinted out certain syntactic peculiarities which are

-

distinctive from the subJunctive (1) nt does not take the auxiliarv do in

the negative, . R | |

» i

(4) I suggest that you not see him again. , ‘.- S

‘and (2) it is not SubJECt to the normal sequence of tenses, as can be. illus-

trated by the follOWing sentence from Hirtle (l963 9l)
(5) Joanna had insisted’ that he come. il §
it has-preViously been stated that the subJunctive in English represents “
potentia not experienttal,events "Two systeric details therefore emerge ”

which Jield clues as to the role played by the- subJunctive in the mechanical

Acontent system that underlies the simple verbal paradigm

ot ’
! '(l), It is independent of the mechanism of time- spherese since it

-7 s not, subJect to syntactic sequence of tense,

(-4

'(2) It represents a formal (i e., potential) and not a- material

-, “

(or, realized) event.

(- .
*incidence -(which represents the event as a form) and not under decadence -

(which represents the materiality of. the event)- in a- pOSition anterior to the -

definition of time-spheres".(Hewson l972372)., T " Co. R

.- g . ¢ . »
‘ : u

) . . v 4
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7 5.2.2 Past Subgunctive AP

English besides having a’ present/ subjunct'ive". also has a 'pas‘t subjunc- |
“tive whose only morphoiogica'l contrast now in existence is found in the .

singular of the verb to b}e (1 were, he were). This has led many ‘linguists to

'conc'lude that Eng'lish does not have a past SUbJUI’ICthE It is true that l
- there is .a.scarci ty of distinctive morphoiogical forms for representing the
past subJunctive in discourse but neverthe]ess there is some evidence that |
in the content system of the Engiish verbal system the past subJunctive does

oF

content system of the Enghsh verbaT system. He says that the capacit( of the

exist. Hirtle (1967) ggrees that the past subJunctive still exists in the |
subaect, in the past subj\mcti ve, to cause an eveht to, unroH in the djrec-
t_ion of the future "{is;countered by universe time’vfhich isastil'l represented
‘as descending toward the past" (Hirtie 1967: 18i To account for the scarcity
of past subjunctive forms in discourse Hirtle (1967) says that *This confiict
between ascending event time and descending universe time would _appear to be :

" the reason for the restriction of the use of the past subjunctive in discourse.

to the auxiliaries and the copuia" (1967 18).

4 o ’ a
. e . :

5.3 The Fre\nch SubJunctive g - , .o » T
l ] ° . N -
Now, we’ shall turn our attention to a brief discussion of the subJunctive

mood in the French verbal system In the subJunEtwe mood of the French
verbal system “the event in motion may be seen either from: the point of view
, ~pf inc1dencex (present subJunctive)or from the,;.point of view of decadence -
| (perfect subjuncoive) The aspect o; decadence will lead to the representation
~ of an event being carried along by the flow of time as i ‘appears to come from )
~;;~the fu%ure, pass through the present and flow off into the past ‘The aspect

" of inc1dence. on the other hand, will represent the event as coming to be...
i . . -

}

[URE
.
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: f\taew\son 1972: 100). R ST A
PRI Y ’ ' - . . :
I . r 1 .,' . . .
: . (que je) parle - E T L
’ a & ‘ - . AT, v
, - incidence
oo “. . : d .
£ v _ (que je) parlasse . deca ence . . L .

’ ;, . R -
At this point we should note that'a basic conitrast exists here with Engiish, -
) 51nce the subgunctive in English is v1ewed only from the level of 1ncidence. .
Now we shal] d1scuss‘the exp]oitation of the‘mechanism of the subJunc-
timepin the french verba] system. French uses the mechanism of the subJunc- ‘

tive in\distourse to° represent events which are- feit not1ona11y to be S

a551gned to the realm of the possibTe (cha#p-du possible). When the event

Lis felt to be in the rea]m of the probable (champ dU'probabie) one utilizes

the 1ndicat}vélmbod, asscan be seen from the following diagram (adapted from o
Hewson 197é 159) ) | |

champ -
+ du probable

F2s

‘u EE X ' .
Impossib]e ‘ .Possib]e \. Probable Certain ' h‘ .

Here we sha]i note an important contrast between French and English with re=-

spect to the use of the mechanism of the subjunctive. French exp]oits the

. mechadism of the subjunctive to represent possible events -wﬁile English does

-

not take into account possibiiity or probabi]ity in its use of the subaunptﬁve. o

In other words, in French, if the idée regardante is felt notiona]ly to’ be in

the champ du;possibie then the verb in ‘the {dée regardée is represented in

;ef the subgunctive mood while this question (possibility/probqpil1ty) is not
app]icab]e in determining mood in Engilsh PR :3' '

" These basic differenCes in the use of the mechanism of the subJunctive

Ve .. . . . . . . oo
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54 Expressions of Ewotion or Judgment -

. The subjunctive/1

/

r/g

used in French to a muc

93 . '/

oo

A very often used subJu ct1ve, in French, occvrs in t e verb of the idee :

\/ egarde 1f in the 1dé regardante, there 1s an expression of emotion or i

'/
Judgment such Z?’can be expressed by avoir peur, avoir hOnte @Ere triste,

Rtre Content, ftre surpris Btre faché crédndre regretter In Frehch the

.\~'1dée regardék/that is dependent on an idée regardante critique is Judged in

»

-

-

“the champ ¢/ possib1e, In Eng]1sh as Wés previous]y stated, we do not take

1nto account the champ du possib1e and[champ du probab1e when using the

mechanlsms of the subaunctive or 1nd1cat1ve, such distinctions do not apply

to. £nglish

‘represented in Engl1sh as not potentla}) 1nstead of the subJunct1Ve
(6)
qﬂ“’-nunul(]‘)“

As a resu]t speakers of Eng]ish'as a native 1anguage tend to

\

& dix heures et demie - aujourd'hui

l ’

“*e regretté que Je suis s nérveuse.

*e suis content querles examens de Noél finiront-

"wuse the 1nd1cat1ve after expressions of Judgment or emotion (the event s

"A very real difference’ betWeen French and Engllsh occurs in clauses sub-

"“ﬂ jec ed to a personal va1ue'3udgment. ﬁrench regularly uses the subJunct1Ve’

1

here, _even though the event-be emp1r1ca1

Je(regrette qu'il soit venu.

I'm sorry he came.

English regulafly uses the indicative here,.

LS

%

[

v

L (H

j

wson 1972:

o

]64)ﬂ

<

reat r extent than in. Eng11sh

‘Senterices*

T -
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\

,regretter par exemp]e veut comme 1dée regardante le mode subJonct1f pour ‘

' ie cas cla1rement Si je d1$‘ je regrette qu Yl sﬁ<t venu, encore que 1a 'f

~. venue en question soit un fait aff1rm6 declaré certa1n“ (Gu111aume 1971a

. subJunct1ve can bring the force of cr1t1ca1 eva]uation to

_vouloir, désirer, souhaiter, permettre. Again verbs f w1sh or cmmnand "do

. . N N
- M . ’ } . / 3
. N ' ,
1

-

-
)
n A .o . LI
” TN , . .- > /'
o » N ' . .

~'such as the above “form a stumbling b]ock to any nawve exp1anation of the N

subJunctive as lepresent1ng simply a- potent1a1 event” (Hewson 1972: 164)
[
Gu:]]aume exp]ains the use of the subjunct1ve as follows "Si le verbe

1 1dee'regardee c'est qu'il fait part1e de 1a -série fort(’tendue des verbes

P

critioues Le regret suppose qu bn trouve que]qae éhose mal, fﬁcheux C est

’

g R/

Y

-

208).
In sentences where'a:clause is subjected to'a persona] value judgment

“the 1dee regardée 1s p]aced 1n the subJunctive because of the existence of .

an 1dee ‘regardante cr1t1que By using the subJunctive ‘here, 1n’fact, speakers

of French bring the force of the cr1t1ca1 eva]uation to bear not upon the

¥ +

,-occurrence of the event (=' ind1cat1ve) but upon_its very nature, upon the

'1dea of the event“ (Hewson 1972 165) It s because .subjunctive events tn

‘French are represented as belonging- tq the tota]1ty of universe time that the :

\bear upon the idea

N

of the event So, in a ‘clause subJeqted to a personal value -judgment since ,

, the idea of the event and not the occurrence of the event $ being crit1c1zed

the event is represented notional]y as potent1a] and therefore the subjunctive
\ . ) a . .

isvpequirpd.. IR B

< N ]

5. 5 Verbs Express?hg w1sh or.Command . .

-0

Another s1tuation in Uhteh French employs use of th' mechanism of the

" ,
subJunct1ve is.in a subord1nate clause where the main c ause expresses wish ®

. or command as is- done by greférer aimer mieux comma der demander, defendre,

B



A

TS

. -’
not necessarily command use of the mechanism.of the subﬁunctive in‘Eng]ish

and 'students may commit errors by uking the/ind1cat1ve mood where the sub-

[
° A

Junct1ve is requ1red ' . ) ’ . e

Gu111aume explains generally why verbs of-w 1sh1n9, etc , require use of -

the mechan1sm of the subjunctive 1n French "Toutes les 1dees des1dérat1ves, “',

quelle qu'en soit' 1' espece du _moment qu e11es-n outrepassent pas le desir,
e souhait du moment qu telles ne vont pas intrlnsequement pius 101n que ce’’

sentiment, sont des 1dees assuaett1es A ne pas sortir de 1 en desa d“un seu11

S et donc a .régir le- ‘mode subaonct1f dont 1 1dee regardée prend la” marque

De 13 Je: désire qu'il vienne, je souhaite qu 1T 1e1fasse Je veux qu 11 le .

fasse" (Gu111aume 1971a:.209). o BRI ' .

/

As for verbs of command or order Gu111aune says that "L 1dee d’ ordre,

de comnandement pr1se comme. idée regardante, 1mpose aussi a 1 idee regardee'

L3

1a force subJonctif et cela tient 3 ce que 1'idée. de c0mmandement reste une -

. 1dee des1g§rat1Ve et volat1ve“ (Gu1]1aume 1971a: 209)

‘ " e

<. In cases where wish or command can be said to express a gotentia and not

an actual experiential event the subJunctive is used in Eng]ish

L

(8) I wish I were you o

1

< (9) I demand that he withdraw his comment.

'There are other 1nstances where 1n£tead of using the subjunctive, English

. makes use .of the me al auxiliaries + 1nfin1tive (would come) s1nce the o :

'Eng]ish modals express a virtual event o o~

-

- (10) I wish he would come._

-
*

For cases such as those illustrated by (8) and (9) one would not expect
) N\,

. "

) Ang]ophones -to. comnit errors. But errors do occur when students attempt to

represent sentences\such as (8) and (9) in French.

° .
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(11) *...je souhaite que vous - nous verr e bientﬁt

-~ <

(12) .*...je veux que vous pourrez veni passer les
-vacances avec moi. ;
(13) *Je desire que tu iras ici,. - ’

-The source of these types of. errors can be traced to ‘two problems at the level
‘of the: surface structures (l) Most students have not béen taught that there
“is a subJunctive ‘mood in Enghish and. they do not recognize‘(8) and (9) as
subJunctives. Thus when, they represent sentences such ‘as (8) and (9) in ~
French students tend to use the indicative forms and (2) Except for twoe ;"
‘cases which were m;ntioned’preVious]y, the subJunctive forms “are identical to '
' - the indicative forms in English and so students will tend to represent verbs

in ‘French hy using the indicative. One -could possibly add a third reaspn,, .
which is the fact'that mosf teachers do not understand the subjunctive in'»
’French very well and so the subjunctive is poorly taught and- certainly 1s not
stressed " (The'head of the French Department at Memorial University informed
me that the subJuQXZive is not taught at -the university level ) ‘ -‘

b

A number of sdudents seem to realize that for expressions of ishing

.-.French does - reguire utilization of the mechanism of the subJunctive{ How-~

ever, some students seem to overgeneralize and use the subjunctive in the
subordinate clause if espérer is the verb in the main clause. One-may’ trace.-
this error to interference from English In English hoping seems to be
'~another form of wishing, and, forming an aSSoCiation w1th vouloir requiring -
use of the. subJunctive mechanism Anglophones are sometimes gUilty of hyper- .

. correction by uSin the subJunctive with e sperer But, vouloir and espérer

'"do not 6verlap in/meaning the way that wish and hope do Guillaume Justifies '

’

P

__gardante is e pérer in the following way "Les choses se presente differe-



- nism of the subJuncti ve/\since events represented by such verbs deny—or

-

292 i

ment avec le verbe espé Avec ce verbe d‘idée regardante i'nt'rodu'ite est‘ _
ceHe d'e spoir 0r l/espoir implique-que 1 ‘a]ternative considerée n‘est )
pius comp]etement 1rresolue et a deJa fait pecher de facto Ta balance en " .

faVeur de 1'un de sés termes, ce qui consﬁtue du reste 1a raison d'e sgere ’
car si la balance /etait restée. egale entre 1es deux terms de 1'alternative,
“1a raison d'espoir rn existerait pas" (Guil‘laume 197ia 210) In English, .

however, - the verb to hog is not. necessarﬂy as p051t1ve as sgerer, and it

~ is aiways foHowed by the 1ndicative. . o , \ oy -
(14) I understand the question. At least I"hope‘ so.\'\\ - '
.
(15) 1 hope you have better luck” than 1 did -5

Al

5 6 Expresswns of Doubt or" Uncertainty

In French; expressions of doubt or uncertaint_y require use of th mecha- S

question thebprobabihty of the event "Denial o probabi]ity entaiis th

refusal to enter, the field “of the probable and he matr'lx estab]ished is . . k
merefore that of the prior field of the possi e" (Hewson 1972 160) Since, |
under conditlons similar to these, English emL/loys the indicative, errors of

the fo'l]owing type occurred®

p I - s

(18) *I1 est peu probabie qu'il/viendra demain. (proba‘oii"'ity‘ ‘ .
o denied) :

- '("17) '*fJe, ne ‘suis ‘pas slir que vous avez raison. (probability '
< e - . denied) o

— "

s aad)

Note. howeveri‘ that if (17) were affi/ ative, the use.of the indicativeé

would be. required in the subordinate/ ciause since the event would,be/f’lt to R

be experiential and thus o be in th’e cham: du probable.

te
-~




If sentences of the type ii]ustrated by (16) and (17) were represented

" in English there would not’ be. utihzation of the mechan ism of -the suBJunctive

"s’ince tt7e question of possibility or probabiht_y is not taken mto account '
( . .

" when determining the use of the subJunctive in English. _ © °

B -

(20) It is unlikely that he will come tomorrow.

(21) I'm pot sure that you are/

It is interesting to note, however that in (20) English does employ the modal

" auxiliary whig:h is .used for expressing virtual , not actual, gvents.
. . > . \ * . . .

5. 7 Il faut que, etc. i , ' “ ) » ~;-f DL

t

In French there are certain impersorial expressions which if found in’ the ’

idee rgga.rdante require use of the subjunétive in the jdée regardée - expres- 4‘,‘

sions such as il faut que, i] est necessaire que il est temps que. etc‘ 'In‘ \

expressions such as these, an event is stated as -being possib'le but riot "

probab]e or certain. .~ - S . .
(22) I1 faut que §' obeisse la loi, o R \

(23) 1 est possnble qu'il 1a reconnaisse. . - . - i “ ‘. 2N
: In (22)1and (23) the conditions for the event are stated and the conditions .
invoiveiposs*nbﬂities and: possibiiity, in French, requires use of the sub- B
'Junctivet - .- St e s

e Thé1 nor'ma] representation of (22) and: (23) in English is \ fo]lows
T -
(24) ‘1 must. obez the law. . : X AN o

.

“ (25) It 1s possib]e that hé w'i'l'l (may) recognizMer.

' Note that Eng‘lish does not utilize the supauncti ve, rather it expi‘esses the o N

event as virtual by means of the moda-l auxiliary. The use of the moda1 piu‘s ;

inﬁnitive is not equated by speakers of Eng]ish with. the sub,]unctivé and

‘may account 'For the use, bfAngiophones, of the 1ndicative where French re-

- P
T PR,



: 't. . (27) '*Maintenant i1 faut que je ferai rnes etudes...‘

 Note that (ZBL may be represén,t‘ed in English 'as

| 5 8 Les Ff"etment Occurrences,of the Subjunctive

qu1res that the subjunctjve be used. Co L .

(2§) *I1 faut aussi que vOous d1tes

'(28) N est necessaire qu i1 le sait.

———

(29) 1t is necessa y”that he know it, . s .

k]
K

,‘In (29) know 1s a subjunctive form in’ Eng]‘ish (nece‘ssity expressing pot'enti- T

ality), but since manyﬁ@ﬂlophones do not reaHze that EngHsh has a subJunc-

tive there 1s a "tendency for the 1nd1cat1ve to be used where a subaunctwe 1s"

'regu1red. - ‘\'\ . S / / .

— 4 N o
1 Pad -
l" -

I

'About 98% of the 1ncorrect usage of the 1nd1cat1ve where Fren/ch requires

-
._,a

=
P
-

(%

the subJunctive (figure- deduced from students' work stud'ied) havé been di's-

CUssed up to -this po1nt The, types of errors- 11'Iustrated to the end of this

chapter oceur much 1ess frequent]y, but, neverthé]ess stﬂl need some' d'iscus-

N

. ® b

s1onr ' ‘ _
f “The mtrix of a .reIatlve c]ause is 1ts preceding antecedent 1f the '

ex1stence of th1s antecedent is negatid we see the SUbJUT‘ICt'lVE used.. ¢

(Hewson '1972 161). If the exis.tence

antecedent 1s a non-person as is ﬂ]antrated 1n ‘the’ fo]lowing sentence

(Gu1,11aume 1971a 222):

(30) I] n _y a personne qui sache ce]a S V.

Con He ‘then.has the fol'low1ng to say about (30): "On d1ra ‘I1 n'y a personne

. qui sache ce]a, g_i ayant pour ass'iette un antecédent per‘sonn qu1 a été ‘

porté Jusqu a 1° absence JUSQU ant annulation" (Gu1 11aume 1971a; 222). So,

. &n (30), where the ante.ce‘dent'“j g1ven negative ‘c,hance,s of existing, Frjench

-

of the antecedent is negated thM& )

\



Le . : : o - PR T . R,
\\ / ' \ employs the mechanism of the subaunctive. In suchea case the event 1s fe]t
' ' notiona]]y to be stil] in the champ du goss1b1e. ) ’

e

In English, where the conditions requiring “the subJunctive are different

h '

from French events relegated to the chamg du Eossib'le my still’ requ1re use. - .
/ .
of the 1ndicat~1ve. ]'hus, when the antecedent 1s a non—person, English my -

sti1l use an indicative form in the relative clause. This, then may account

) ‘for,th‘e’ following error made by an Anglophone: ' S .
T o -+ (31) *I1n'y a personne qui vous conna1t. o . R
TN If (31) were represented in EngHsh the use of the 1nd1cat1ve wou1d be requir-

o
ed, and so “an Eng'lish speaker wﬂ] tend. to use the 'indicatwe 1n a sentence

such as (31) above. )
" When "the antecedent of a relative clause is fndefinite, and thus unknown, |
i?,' o . _-French uses the subJunctwe mood.  Again, since Enghsh does not requ1re the a
subJunct'l ve under such ci rcumstances evidence of interference from Enghsh
occurs. g . ‘ L ' P “
(32) *Qui que vous ﬁtes allez-vous-en.
. : (33) *Qu01 que tu dis, ne dis’ pas que c '‘est diffici]e .
o ‘In both (32) and (33) the antecedent is 1ndef1n1te and, therefore the’ sub-
' Junctive must be used in the relative c]ause. In contrast, EngHsh would use
A an 1nd1cat1"ve forrn in both (32) and (33) - this cou'ld probably be seen from

the tYPe of errors in these two sentgnces. [ S

Coo There are. certa1n conaunctions 1n French (conJonctwns v1rtua‘lisantes)
wh'lch reqmre the subJunctive after them - conJunctwns such as gf'm que, ‘

. . E , Jusqu '3 ce que, sans que, pour que avant que, etc. F'lrst of all ‘we shall

r

' consider the conjunction jusqu 3 ce _qye and the reaSon for 1ts requiring use .

“of the subjunctive after i_t,\when the refgre_nce 1s to.a future event. This

.- 7. conjunction takes tfie subjunctive when.used wi th future reference sincé cg,

[
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" the subjunctive (Hewson,1972: 163):

S o

the antecedent of qui, is indeterminate _— R

(34) J* attendrai Jusqu i ce qu 1-1 v1enne. el Y

Since norma] Eng'hsh usage requ'lres the 1nd1cat1ve 1n sentences such as (34), ,

errors such as-‘the fo]]omng occur

o "

(35)’ *J'attendrai Jusqu '3 ce qu ~11 va a la maison.

Conaunctions such as sans_que, "express1ng negat1on are also fo]]owed by
/ > -

the subJunctive " (Hewson 1972 163) o '

. (36) I est sorti sans que vous le sach1ez c

: He went out without your knom ng. .

' "L 1dee regardante absorbant que et Tui assignant sa posit‘lon peut dans les

locutions conaonct'lves Stre une idée negative. La locutfon a'lns'i formee .

gouverne reguHerement le subaonctif Par exempJe ,Sans. que vous 1' ayez su.

ans que est ant1c1 patif.. Il nous met-en présence du- non- ex'lstant encore, .

-

d'une situation ou 1 evénement n'est pas encore arr-ive" {(Guillaume 1971a‘: .’g41 ')..-

" The preposition without does not govern the- use of the subjunct'lv'e in Eng'lish,~

*

and therefore,one may expect interference from the Enghsh verbal systern

' ConJunctwns such as pour que, avant que, etc., are used to express events

’ wh'i ch are 1ntendent, "or contingent on eventuaHties (and therefore indeter—-

m1nate)" (Hewson 1972 163); suéh events\ are assigned .to the subJuncti{e. The

conaunctions pour que avant que, etc., are ant1c1pat1fs and, as such requ'lre )

-~

" (38) Je parle 1entement pour que vous me compr‘éMez. o
| (39) Mangez vite avant qu'dl vienne. - .. ". -
Again, English-speaking students win use the ind1catwe .in (38) and (39).

As we' have seen, there are - many cases 1n which French exp]nits the mech-

- ‘anism of the subJunctive vihere Enghsh makes use of the indicat1ve. The

d1fferences in. the use of the subJunctive can be accounted for as follows

. — . s .
e S A g ]
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(5;~The ut11ization of the nechan1sm of the suhgunctive is’ d1fferent for
.English and French% In French the. sub;unct1ve is emp1oyed for possib]e even%s,‘

while-the 1nd1cativ is ut1Jizeﬂ for proBab]e events.. In Eng1ish the ques-
tion of possibillty or probabillty 1s not- even applied when decidﬂng the use"

.+ of mood. (2) The facts that (a) many Ang]ophones do not rea11ze that English, L

4 IS

has a subJunct1ve mood and (h) the subaunctive and. indicative forms, 1n5most

cases, are 1dent1ca1, a]so aCcount #Br errors comm1tted by students w1th

regard to mood These facts seem to accoupt suff1c1ent1y for in erferenee

i H .

- from Engllsh 1n tHe rea]m of mood. v T . St
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o CHAPTER ‘SIX

INTERFERENCE OF THE ENGLISH VERBAL SYSTEM ON , ST R
‘ LEARNING THE FRENCH ASPECT SYSTEM _ o

A . ) - I ‘ i . ')’”*

o . . . B l'l/'

e

6.1 Introduction e ‘ S - S ,

- . . e

It has already been noted that differences exist between English and

French An the areas of tense and mood. It has also been shown that the dif-

ferences between the two languages within the realms of tense and mood account

:,'for interference (and thus - mistakes) when Anglophones are attempting to o -

F

" master, use of the French language. When learning the French tense system,

ffevidence occurred indicating the English aspect system as the major 1nter-4

fering factor., In this particu]ar chapter we shall discuss differences in
the English and French verbal sys tems which lead to interference from English
on learning the Freneh system of aspect., ° ' '

- o

Both the English and French aspect systems have been discussed 1n yt

ot earlier chapters and will not be’ described in any detail here. Only when

differences between the ‘two verbal systems” lead to interference from Engl‘sh

b

- . P v =

bwill the aspect systeMs berdiscussed . ’ : 3

A 'r

It has previously ‘been - stated that the’ English verbal. system has seven
tense forms (only two of these forms being indicative) and se may be expected )

R

-to utilize its’ aspect.system much more extensively than French which has ten

.tense forms (five of em being indicative) .The reason, of course, why
English exploits ts system of aspect $0 exten51vely is ,that it needs~t9;be

.abié to exp;ess/m:re témporal distinctions than its tense system is .capable T

:of, Since the French tense system is capab]e of making more temporal N

"' distjnctions than the English tense system, it has not’ needed ‘to extend s

aspect system to the same extent as English has done. o ' . ‘
To begin qur discussion of the interference from the English verbal ’
N ‘ -ty - q o S

._J. " L e . A



éﬁ&;s : -J"" . : .. ] - .J
: lisystem on the French aspect'system. we shall start at“the level of the quasi-

*

< . ' '\
J 104

I3

nominal ‘mood. -Previous discussions have revealed that there are three tense .

forms in the quasi-nominal mood - infinitive. present participle. and past

o

participle - of both English-and French However. the usage of the various

J” forms are different, quite often. for the two languages.4 The differences in

%
the representations of the quasi nominal mood which cause usage of  the 4ﬁn\eus

ﬂw
forms to differ’ have already been shown to be the source of interference “in

. the realm of tense S . ' _' | ‘|. .

DRI of

6.2 . Apres

LN

Frequently Anglophones commit errors when learning French by u51ng the
present participle where French requires that . the infinitive be used For
example English-speakers may say o (' .

(1) *ad ‘entendu chantant les énfants.
\

where correct usage. requires ) ‘ X a a

(2) J'at entendu chanter les enfants . . -

Errors of this’ type have.already been discussed in~lhapter Three, but .are to

s
L

be found when dealing with_theiaspect.systems, cs’ié shall.see,.

4

Following the preposition after,English may utilize the present'

o » e -

participle .
(3) After playing hockey he was very tired
- The preposition after would seem to require that, its obJect contain an eiement

. of decadence. One can therefore Justify use. by English. of the preSent

participle in (3) since the -ing form" has a suitable element of decadence: in

its representation. ~ - L o
\
4

See section 3.2 for examples illustrating differences in ysage of . '
various forms, and also for an explanation of. these differences. - )
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How ver, in the French _verbal system 1t is the. infinitive which is the
.
most co n representation of the event as a noun, the participles being

‘ normally used to represent events as adjectives.

(4)" Chanter. c'est un plaisir.: Co. U

o

Singing is a pleasure. - o Sl

To sing 1s a pleasure. S o ]
_Now, the French infinitive, which represents an event as - totally in incidence.

contains no element of decadence whatsoever. The preposition g (like

after).seens to require that its obJect contain an element ofldecadence and
to obtain this sujtable element of decadence French uses a compound infinitive
(containing a past participle) following prés

(5) Apres avoir joué au hockey 11 etait fatigue.

L

In (5) French requires use of the jnfinitive (avoir) as an obJect\of the

preposition, and to get a suitable element of decadence uses .the past parti-
ciple (joué). ' _

It is because of these differences in the quasi-nominal mood that errors

« \l

’

=

I (6) *Apres xgin,les quatre matches de hockey..."

(7) *Apres Te recevoir. je 1'ai mis dans une autre banque.

(8) *Aprés va a 1'église... . ’ RN

~-ln (6) and (7) the infinitive is used but no element ‘of decadence is .

represented. In (8) there seems to be confusion of going and is going, the

. latter being represented fn French by va. ' ’ , (- /

6.3 Voice

-

At this point we shall discuss how voice may be seen as causing inter-

ference with an Anglophone s understanding and ‘use of the French aspect-system,

. Nith middle voice verbs in French there are errors committed by Anglophones,

T - o //los .

.

such as the following were committed by- Amglophones o S _ {;‘

A



SR N S e, ™

"1nd1cating verbal 1nterference from English In consldertng these verbs it s
-{s 1mportant to note that tﬁe grammatical subject and granmatical object are .
{dentical, "and therefore the subject 1s 1nvolved in, 1s the receiver of, his

“own actions | When the grammat1cal subject is 1nvolved in the consequences of

. his own actfons (and such’ 1s the case if }he subject and object are 1dent1cal)

French forms the passé composé with etre as the auxiliary, while under

. simllar c1rcumstances Engllsh uses have as the auxlllary

e

(9) Jean s'est levé i huit heures f c
"John got up at 8:00. '

(lo) Elle s est lavé. o A ' P .
She washed (has washed) herself, ‘ .. L

i 3

. Since English uses have as. the auxillary in cases sim{1ar to- (9) and (To)

d

errors such ‘as sthe fblloqgng are somet1mes conmltted by Engllsh speaking

students when they use Frénch: .

g -

5(ll) *Puis, l'homme s'a arr@té... ' :. . o Qe

Besides the pronominal verbs, there are sixteen other verbs 1n French '
which regularly require Gtre as the auxlllary when* formlng the pdssé compose.
These verbs are the verbs of resultant state which were mentloned in Chapter .
Two. "All these verbs repre;gnt act1ons which when completed, result in a
. state of affalrs where the subject is no longer ‘free" (Hewson 1972: £§§7)

As an example, we shall ‘take thé verb mo moyrir. Once one fs dead ordinarily he ;,
1s considered to be in a state where he 1s no longer free to contjnue dying.
When the event is completed the subject is no longer considered free to slmply :
. resume or. continue that action any further. R S

(12) Elle est morte la semaine derniere.

(13) 11s’ sont allés a Montréal hier.. o . -

It must be remembered that the use of @tre as the auxiliary for.the -

verbs of resultant state 1s dependent on these verbs bejng 1ntransjt1ve. If

N

v
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' middle voice construction
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the verb has’an object which is not identical to the grammatical subJect the

verb is active and as such, ‘requires avoir as the auxiliary.
(l4) Il a monté les bagages. <i S

The use by. English of have where French regularly requires that etre be

used as the auxifiary can be seen as the source of interference in the fol-

lowing sentences . - ' - " o o \
. -(151 *Nous avons regté dans un grand hﬁtel... xa xv_ ; ‘ -
(16) *Puis j'ai retourne chez mo1 pour une semaine.Z o ﬁ-

v [

Normally, English students associate the English past tense with the French
passe compose. Since normal usage requires have (avoir) as the auxiliany
when representtng the passé composé in French avoir was. incorrectly used in.
(1) and (16): . P |
Although many people do not realize it, English does have instances of s

] ‘ T

b (17) He was born’in 1946. o - U .
| 18) Are “they gone yet? N '_JQ\_ ' L . |
However, in cases such as (l8) English normally uses have, not be, as the:
auxiliary. ' ' ‘ “ ‘
. A rare case occurred when an Anglophone used morte as the equivalent of
the simple past died-in the following sentence . ™ . .
- (19) *Je suis déso1€ que votre poulet morte. |
Died may be either a past tense form of the verb die (He died) or.a past
participle (He has died) "In.(19) the student seems to have cqnfused the

uses in English and toqhave carried this—sonfusion into French BN .j‘f

i 6. 4. Formes Surcomposees

/

Although no evidence occurred. there is a-distinct possibility of the :

\ -
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English verbal system interfering with the correct usage of the ‘ormes

yL

. . ' surcomposées in French Both Eng]ish and French have immanent and transcend-~
) y

:‘_EEE spects, but only French has a bi- transcendent aspect., ‘

ey o
%

Je marche - ~J'ii marché J'ai eu marche- (bi-transcendent)

e I walk I have walked I had walked (transcendent)

£

"The formes surcomposées (or super-compound double compound forms) are ..

simply a logical continuation to the formation of the compound" forms Just

’ as the iatter, by. re]ocating the subJect in the time. of the auxiliary. allow
¢ f G _ the original- event to’Efﬂtranscended and to become an event prior to the
& v

auxiliary, so too the bi transcendent aspect shows a second stage of

transcendence“ (Hewson 1972 116) So, in the formes’ surcomposées the

-auxiliary (of the compound form) itself is now. transformed into a past

. o participle.Jas can'be‘seen in the following diagramf" m
t ’ < ' * - '\.—.—-‘
: © (A) 11 parie o
, Fé’""'"""x __________
o : . k
(BL%:ﬁw" parlé - -a
! \
| | =
’ (C) L parlé eu 12 )
" Putef

; ; In the double compound form (C) the new auxiliary which, is created "opens up
- | a-further space of event time that 1s posterior both to the-event time. of the
' _ originai auxiiiary and.tp the event time of. the’ original past participle:”
(Hewson 1972: 115).

Aithough there are some curious compoundings such as If I had have known, :

: Eng]ish has no doub]e compound forms 1ike the French’ ones in the representa- ,

tion of time. In order for the Engiish verbaI system to express an event as
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P

occurring prior to He has spoken 1t uses the’ past tense form of the auxﬂiary.

i
thus gwing He had spoken. Since EngHsh does not have a forme --surcomposee

there may be a tendency for ‘Anglbphones to use the 1mperfect of the auxiuary
+ past part1c1p1e (plus-que- parfa1 t) where /the doub1e compound form ma_y be.
actuaHy consiJered correct, and many teachers do not teach the s urcompose.

‘As can be gathered from the Iength of the present chapter, 1nstances of

( -the English verba1 system 1nterfer1 ng with the correct usage of the French

,aspect system are much 1ess frequent than 1nterfer!ance in 1earn1ng the tense L

G g R
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L L " CONGLUSION . . B

The immediate study of- this paper has been the interference from the.l-
English verbal system on the learning and uSe of the French verbal system L

within the realms of tense, mood and aspect. Since the verbal system of a .“i,

J/

‘language is very difficult for a foreigner to comprehend it is- hoped that
/ th1S particular study has thrown some light on }he French and English verbs

&’/,,//T / and has isolated some of the most serious problems for Anglophones who are
N Y .
/- _ attempting to master use of the French verbal systew’ Lo :

0
’

.To undertake the present study, essays from student examination _papers
were examined to see if errors occurred illustrating verbal interferene&,from(

English Fhe students, whose papers were - -studied, had not reached a high

degree of, sophistication (three years. study in high school and from one to

- ¢ r
1 . .
. S :
4 T~— .
’

'_ three semesters of unaversity study) Consequently ¥t is hoped that the R i
present stUdy Will be of help_to teachers who are attempting to teach a second - i
language to beginners (or intermediates) oo ,

, T In order to fully understand the real (or underlying) reasons for inter—

}:ference of the English verbal system on one's understanding and explOitation :

o of the French verbal system lt 1s necessary to understand the structures of

" the two-verbal systems.: Thus, Chapter One was devoted to an examination of ./
. the English verbal system. n this chapter ,the information was taken from
Hirtle and Hewson who have applied the\theories of Gustave Guillaume to the :»,

o English Verbal system._ In Qhapter.lwowthere.is,discussion of the French ver-

_* bal system, using the'theories of Guillaume‘who had. many profound insights - e

1. './' T into the structure of the French verb. These’ theories on the English and -

French verbal systems will help to satisfactorily ‘explain many of the reasons

for the verbal interference discussed in the last four chapters. -

' ln"Chapter,lhree interference from the English verbal system on an f"'

“



- ;\ . ¢ ‘ .]‘ S— g : ., . ]]1
- B ' - ﬁogp ‘

fAnglophone s use of the French tense system was discussed This was, done by

collecting student errors: 1n’the realm of tense and using Guillaemian

theories to’g;plain the reasons for the érrors. At the level of the quasi- .
_nominal mood differentimes of the same form (say 1nfinitive) was seen'to be

the source ‘of interference, while in the indicative the main source-of tense
interferente was the English aspect system ‘ , ‘

| In Chapter Four interference from the English modal auxiliaries on the.f -

8
use of the French verbal system was discussed The modal auxiliaries are °

'often used in English to express virtual events, this being done in French ~ °
only by the suhgunctive The English modal auxiliaries are also used with a ‘

~mfollowing 1nfinitive to express‘the French future and conditional, thus being

‘. oa sourcé of interference. Another .'important source' of interferenee f'rom the. "

English modal auxiliaries occurred with the past forms which have only one

form in English but must each be translated by at. least two in French with .

some of the modals’ .there was no evidence of. 1nterference since similar usage

is to be found in French. . ° . - e T '
AU Chapter Five dealt with mood interference from English on learning the ‘
\\\ French system of moods. Perhaps a ihore exact thing to say, is ‘that interfer— _—

ence. from the English indicatdve mood - on the uses f.the French subjunctive

mood was discussed Here the main problem se to be the problem of = - Cos

possibility/probability which determinesumood in Fre ch but which does not ' .
N seem to be of any concern in deciding use of fiood -in English '

} "In Chapter Six there was a short chapter dealing with English verbal
. interference on the learning and use of};he French’ aspect.system Interfer-
’.‘)ence on learning the French aspect system was discussed at only two levels 1
_;quasi-nominal and 1nq;cative - since no evidence occurred to suggest that
.~there’ might be - interference in learning and using the aspect system in the
subaunctive. l” N - L . . o L ‘ t-*‘
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